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@ Statistics and probability
@ Statistics is not intuitive
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Why this course?

“In God we trust.
All others must
bring data”.

W. Edwards Deming
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Statistics is not intuitive
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Our evolutionary pressure was not on solving statistical problems
so Statistics normally escapes from our intuition
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Statistics is not intuitive

We tend to jump to conclusions. A 4-years little child
may think all doctors are female simply because the 4
doctors she has met are women.

From a small sample we cannot generalize to the whole
population.
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Statistics is not intuitive

We tend to be overconfident.

@ Most people to have more common sense than the
average person and drive better than the average.

@ Most drugs tested do not help ... Of course, this
applies to other people’s experiments. My
experiment has a large probability of succeeding (I
carefully designed it).

Scientists need statistical methods to quantify confidence
on the results.

0. Statistics and probability August 13, 2017



Statistics is not intuitive

We see patterns in random data.

@ We tend to see winning or losing streaks, but the
SRR = i true probability is 0.5 and all shots are independent.
)
H
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But this is mental bias. Statistical rigor is needed to
avoid being fooled by apparent patterns.
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Statistics is not intuitive

We don't realize that coincidences are common.

@ We rank the grades of people in a class and study
the characteristics of the people in the top 5. We
realize that they are all scorpio, so we conclude that
being born in November gives people an academic
advantage.

We cannot conclude anything a posteriori. A different
story is having the hypothesis that being scorpio gives an
academic advantage, and verifying the hypothesis by
analyzing the data from grades. Otherwise we may had
found any other characteristic amongst the top 5 (being
girls, wearing jeans, coming to school by bus, ...).
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Statistics is not intuitive

We find it hard to combine probabilities.

@ Behind one door there is a fancy new car, and you
must choose just one door. The host chooses one of
the other two doors and shows that there is no car
behind it. He offers you to change your choice to
the remaining door. Should you change your mind
and choose the other door? Most people think it
does not matter, the door you chose either contains
the car or not, so there is 50% of chances of getting

i the car. ) o
Let's analyze the game. There are two possible situations:

o Case A: | originally chose the right door (p = 1/3). If | change, there is a
loss of 1 car (-1)
o Case B: | originally chose the wrong door (p = 2/3). If | change, there is a
gain of 1 car (+1)
On average

1 2 1
{change} = 5(~1)+ 5(+1) = 3
So changing the door increases my chances of winning the car.
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Statistics is not intuitive

We find hard to match long run probabilities with single
shots.

o Changing doors is beneficial only if we are to play
this game a large (infinite) number of times. For a
single shot, expectations do not help.
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Statistics is not intuitive

We don’t naturally do Bayesian calculations.

o HIV affects 0.1% of blood donors. The antibody test
correctly identifies 99% of infected samples, but it
also incorrectly concludes that 1% of the
noninfected samples have HIV. When this test
identifies a problematic sample, what is the chance
that it effectively has HIV?

If we have 100,000 donors, on average, only 100 (=0.1%)
of them will have HIV. If we apply the test to these
patients, 99 of them will be correctly identified (and 1
will escape). Of the remaining 99,900 donors (not having
HIV), the test will be positive on 999 of them (=1%). Of
the 99+999=1,098 positive tests, only 99 of them are
HIV carriers. That is, the chance of being HIV carrier if
the test is positive is only 99/1,098=9%.
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Statistics is not intuitive

But we ignore that:

We tend to ignore alternative explanations.

@ We are studying the effect of acupuncture on
osteoarthritis. Patients with sever arthritis pain are
treated with acupuncture. They are asked to rate
their pain before and after treatment and there is a
(statistically significant) decrease in the pain. So
acupuncture must have worked, right?

If the patients believe in the therapist and treatment, this belief may reduce pain
(placebo effect).

@ Patients may want to be polite and tell the experimenter what she wants to hear.

@ During the acupuncture session, the therapist talks to the patients and he may

recommend a change in the aspirin dose, exercise, nutritional supplements, ...

The experimenter may remove data from the study, those for which acupuncture
did not work because these patients have a different kind of arthritis, they had to
climb stairs because the elevator was not working, ...

Patients go to the therapist when they are feeling really bad, so they can only
improve along the day.
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Statistics is not intuitive

We are fooled by extreme values and regression to the
mean.

@ An athlete performs this season extremely well.
Then he appears on the cover of Sports Illustrated.

THE SCIENCE
OBSLUGGING

[06KING
L And next year, he performs worse than last season.
CHRIS Appearing in Sports lllustrated brings bad luck to
DAVIS athletes!!

BT VRO

Batting Average Regression to the Mean

0320 =

But we ignore that: The athelete’s performance
may not have changed. Last season's a0 "~
performance may be an extreme from this

distribution. Next draw from this distribution will —_—
most likely be from a more “central” region of

the distribution. 0260 /

0.240

0.280 - .

Batting Average
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Statistics is not intuitive

Z21% of the boys and 3C% of the girls
support me; therefore I'll get 51%
of the vote.
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@ Statistics and probability

@ Probability
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Probability
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Probability is a number between 0 and 1 (=100%) that expresses our certainty
about the occurrence of an event.
We may arrive to this probability by: 1) a model, or 2) by gathering data.

0. Statistics and probability August 13, 2017



Probability as a prediction from a model

We may establish a model for understanding the world:
@ Each ovum has an X chromosome and none hasa'Y
chromosome.

@ Half the sperm have an X chromosome and the
other half have a Y chromosome.

IS 1 b Bt e @ Only one sperm will fertilize the ovum.
('.', ) @ Each sperm has an equal chance of fertilizing the
- ’u(‘ ovum.
= @ If the winning sperm has a Y chromosome, then the
CQM o BDY? embryo will be XY (boy).

o If the winning sperm has a X chromosome, then the
embryo will be XX (girl).

@ Any miscarriage or abortion is equally likely to
happen to male or female fetuses.

Our prediction with this model is that there is 50% chances of being a boy or a
girl.

0. Statistics and probability August 13, 2017 19 /35



Probability based on data

In 2012, 51.7% of all babies born in the world were boys.

For a particular pregnant woman, the probability of
having a boy is 51.7% (=0.517).

If we take a group of 1000 pregnant women, we would
expect to observe on average 517 male fetuses and 483
female fetuses.

This does not mean that if we take 1000 pregnant
women, we should observe 517 male fetuses and 483
female fetuses.

It means that if we take many (many) groups of 1000
pregnant women, and we average the number of male
and female fetuses of all these groups, as the number of
groups go to infinity, the average of male fetuses will
approach to 517 and the average of female fetuses will
approach to 483.

0. Statistics and probability August 13, 2017



Understanding the assumptions of probability

Since in 2012 we have observed 51.7% of babies to be
male, the probability of a new born being male is 51.7%.
Is that correct? It is if:

o If the probabilities from the past can be used to
predict the future. There is no change of the
probability over the years.

@ There is no change of the probability along the year
(the male probability in January is the same as in
July).

@ There is no change of the probability along the race
(the male probability for Africans is the same as for
Asians).

@ There is no change of the probability along region
(the male probability in China is the same as in
Japan).
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Well-defined probabilities (probability of what?)

Probability = Positive results

All possible outcomes

In our example

#Male new borns
#All new borns

Pierre Simon Laplace 0517 =

A lab test for VIH is 98% accurate.

What does it mean? With this information alone it is
meaningless because it is an undefined probability. We
don't know which are the positive cases and all possible
outcomes!!
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Well-defined probabilities (probability of what?)

Interpretation 1: Sensitivity.

Numerator: Correctly identified VIH cases in a group of
people with VIH.

Denominator: Number of tested people (all of them had VIH).

Interpretation 2: Specificity.

Numerator: Correctly identified non-VIH cases in a group of
people not having VIH.

Denominator: Number of tested people (none of them had

VIH).

Interpretation 3: Predictive value of positive test.
Numerator: Correctly identified VIH cases.

Denominator: Number of people whose result with this test
was positive.

Interpretation 4: Predictive value of negative test.
Numerator: Correctly identified non-VIH cases.
Denominator: Number of people whose result with this test
was negative.
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Conditional probabilities (probability of what?)

p(A|B(given)) # p(B|A(given))

@ The probability that a Statistics book (given) is
boring is not the same as the probability of a boring
book (given) being about Statistics.

p(boring|Statistics) # p(Statistics|boring)

@ The probability that someone with abdominal pain
(given) has appendicitis is not the same as the
probability of someone with appendicitis (given)
having abdominal pain.

Thomas Bayes

p(appendicitis|pain) # p(pain|appendicitis)
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Conditional probabilities (probability of what?)

Thomas Bayes

p(AIB) # p(BIA)

@ The probability that a heroin addict (given) first
used marijuana is not the same as the probability of
a marijuana user (given) will later become addicted
to heroin

p(marijuanalheroin) # p(heroin|marijuana)

@ The probability of a study for which the null

hypothesis is true (given) having a p-value smaller
than 0.05 is not the same as the probability of the
null hypothesis being true for a study in which the
p-value is smaller than 0.05 (given)

p(pval < 0.05|Hp) # p(Ho|pval < 0.05)
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Odds is different from probability

The odds is a ratio between two probabilities

@ The odds of being a boy is

p(boy)  0.517
= = — = ]_.
p(girl)  0.483 o7

@ The odds of developing a lung cancer if you smoke is
10 times larger than if you don't smoke.

p(lung cancer|smoke)

0=10=
p(lung cancer|don’t smoke)

p(lung cancer|smoke) = 10p(lung cancer|don’t smoke)
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Probability

THE STUPID STATE WANTS WHY DOES ITS A TAX

TO RAISE MONEY BY EXPAND- THl.‘I"S
ING THE STATE LOTTERY. NOW | WHAT'
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From a sample to the population

The Proportion of White Respondents in a Population and in a Sample

Population

L R -
it ST SN,
L o0 L SN S
 SIRAET |

4 68 4 4

Parameter Statistic
Proportion of white respondents Proportion of white respondents
in the population in the sample
15 4
=15_60 =4 _ g7
T2 Ps

From our calculations (statistics) performed on our sample we want to infer (inference)
the true population parameters. In Biostatistics, we normally assume that our sample is
small (<10%) than the population (normally considered to be infinite).
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Random sampling error

" _®

Population (or Sample

Experiment) Inference

Random sampling error. Just by chance your sample might have a higher (or
lower) mean/proportion/variance/correlation than that of the population.

Random sampling error decreases with the sample size.
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) matic errors

Non-response bias: Individuals who do not respond to a call to participate in
research studies behave differently from those who do respond.

Selection bias: Studies performed in a hospital are not representative from
the general population. The admissibility criteria may not represent the
population.

Publicity bias: Some individuals refer themselves to the investigator following
publicity of the study (they have a particular interest in the disease being
studied).

Healthy worker bias: Voluntaries in studies may be particularly healthier as
they are concerned about their own health and are predisposed to follow
medical advice.

Overcoverage: Including data from outside the population.

Undercoverage: Sampling does not cover the whole population.
Measurement error: Respondents fail to understand a question.

Processing error: Mistakes in data coding.

Information bias: Systematic misclassification of subjects.

Confounding: The effect of one variable is mixed up with the effect of
another variable (e.g., assessing the effect of smoking on lung cancer, but the
average ages of the smoking and non-smoking groups are very different).
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Bias and variance

Figure 5. Bias and variability

High bias, Low variability High bias, High variability

Low bias, High variability Low bias, Low variabihty/

D. Figuereido, et al. When is statistical significance not significant? Braz. Polit. Sci. Rev. 7 (2013)

Bias invalidate inference.
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Stratified sampling

Population Strata Random samples
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Stratified sampling helps undercoverage.
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Random sampling

BUT THEY WERE SELECTED RANDOMLY

}
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© Confidence Intervals
@ Confidence interval for a proportion
@ Confidence interval for survival data
@ Confidence interval for counted data
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Outline

© Confidence Intervals
@ Confidence interval for a proportion
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From population to sample (“simulation”)

Binomial distribution. The probability of observing r
independent successes out of N, each has a probability p.

o If you flip a fair coin (p = 0.5) 10 times (= N), what
is the chance of observing exactly 7 heads (= r).

o If the probability of getting an infection after a
surgical operation is 5%, what is the chance that 10
of the next 30 patients will get an infection?

Cumulative binomial distribution. The probability of
observing r or more independent successes out of N, each
has a probability p.

@ What is the chance that 10 or more of the next 30
patients will get an infection?

Negative binomial distribution. The probability of
observing g independent successes before observing r
failures, each has a probability p.

@ What is the chance of observing 30 non-infected

patients before we observe the first infection?
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From sample to (estimated) proportion

(“experimentation”)

Premature babies born at Johns Hopkins Hospital
between 1990-1993:
@ 0/29 babies born at Week 22 survived after 6
months (0/29=0%).
@ 31/39 babies born at Week 25 survived after 6
months (31/39=79.5%).

Is the true survival proportion exactly 0 and 79.5%7?
Probably, not.

Can we give a confidence interval that contains the true
proportion with probability 95%

Yes [0,13.9]% and [64.3,89.5]%.

These intervals only account for sampling error (not for
bias).

1. Confidence Intervals August 13, 2017 5/27



@ Random (or representative) sample. 1) Other than
chance there is no systematic difference between the
newborns at Johns Hopkins Hospital and the general
population newborns (that is, we assume there is no
difference in nutrition of the mothers before giving
birth, medical care to the newborns, hygienic state
of hospital, ...). 2) This proportion is at some
particular conditions (location, time, medical
knowledge) and it can only be used to predict the
outcome at the same conditions (a change in
location (Africa), time (20 years later), ...) will most
likely have different underlying parameters.
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@ Independent observations. Twins are not
independent (they share genetic and environmental
factors), or if deaths are caused by a hospital
infection that affect some newborns.

@ Accurate data. If the doctors know that 6-month
survival is to be tracked, they may make heroic
efforts to bring a 5-month old baby a few days more
so that he accounts (even if he dies a few days after
6 months).
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What is confidence?

@ The true population proportion lies or lies not in the 95%
Cl. But there is no way to know if it does or not.

@ If we repeat the experiment (calculating the CI) many
(many) times, in 95% of the occasions, our Cl contain

, the true population proportion (altough we don’t know
=2 \ which ones).
3o
oo \ @ 95% is the probability that our Cl contains the true
§or] proportion.
Fh @ If the true parameter is outside our Cl, it is due to bad

— luck with our samples (sampling error). This occurs in
% o2 oi o5 dn b 5% of the cases.

Fopulton Propoion (5
@ There is nothing special about 95% (except tradition).
Lower confidence results in narrower ClI.

@ Actually, the confidence is on our procedure to construct
intervals, not about this particular interval.
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What is confidence?

1 @ 95% is not the probability that the true proportion is in
gzs: \ our Cl.
2 \ @ A 95% Cl does not mean that 95% of the sample data
og: falls within this interval.
El @ A 95% Cl does not mean that with probability 95% if we
s repeat the experiment, the estimated proportion falls
o0’ °!,§Qp‘ms":j";w;‘,ﬁm;(p°;ﬂ "o within this interval.
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How to calculate the confidence interval for the Binomial

distribution?

@ Clopper-Pearson exact formula

r <p< (r +1)Fi-g2(r41),2(N-r)
r+(N=r+0)F_aonw—riny2r ~  (N=r)+(r+1)Fi_ g2

r is the number of observed success, N is the total number of samples. (F is
Snedecor's F distribution)

@ Approximated by the modified Wald formula

2
, r+0.5zl_% 92% 2
P = Nz, ~ N4
2
0,
_ p'(1—p’) 95% p'(1—p')
W = zi-4 N+22 =2 N+4
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How to calculate the confidence interval for the Binomial

distribution?

@ More approximations

~ 0 95% 3
p=1 <Py
. 1 95% 5

= 0<p< =
P=N 7 |"=P>N
A 2 95% 7

== 0<p< —
P=N T |°"=P>N
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Common mistake

Giving an antipyretic to mice with fever makes their
temperature drop from 39.5°C to 37°C. That is a
temperature drop of 6.3%.

This percentage is not a probability of the occurrence of
an event.

It is the change of a continuous variable. So the
confidence interval calculated in this section does not

apply.
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Outline

© Confidence Intervals

@ Confidence interval for survival data
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Survival data

Survival data measures the time to a
well-defined event such as

@ ... death
o i , @ ... occlusion of a vascular graft
8 Start G Analysis . .
g Ity | o= | poin o ... first metastasis
g 5 L L .
@ g - @ ... rejection of a transplanted kidney
3
2 Data is censored
0@ 4 ED D 92 @ ... when we stop observing the
subject at the end of the study.
+ Event

o ... if they cease to collaborate.

o ... if they die from a different
reason from that of the experiment.
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Kaplan-Meier analysis

Percentage Surviving

100%

80%
= S
60% < 1 2
— .
40% ‘
- L
2% | —o- contol
—@— Treatment
0 i
0%
[} 5 10 15 20 25

Became
Time Unavailable
Period | At Risk | (Censored) | Died | Survived | Kaplan-Meier Survival Probability Estimate
Year 1 100 3 5 as (95/100)=0.95
Year2| 92 3 10 82 (95/100)x(82/92)=0.8467
Year3| 79 3 15 64 (95/100)x(82/92)x(64/79)=0.70
Year4| 61 3 20 41 (95/100)x(82/92)x(64/79)x(41/61)=0.4611
Year 5 38 3 25 13 (95/100)x(82/92)x(64/79)x(41/61)x(13/38)=0.1577

Kaplan-Meier Survival Curve

Months

In this plot, red and blue points indicate
censored data.

At each point in time we may create a
confidence interval as shown in the
figure.
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Survival summary

Survival distribution function

09
08
07
06

05
04 1
03 1
02 1
011

0 5 Median 10 15 20 25 30 35 40
survival
time

Control

— Drug 6-MP

We may summarize survival data through:
e Median survival time (50% of the samples still survive)

@ Two-year survival (survival proportion at a given time)
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@ Random sample. So that the sample is representative from the population.

@ Independent subjects. If the study pools from two different hospitals, each
hospital with different average survival, then the proportion of individuals
from each hospital will distort the survival curve.

If the studied disease has a genetic component, including family members in
one treatment group distorts the survival curve.

o Entry criteria are consistent. If the study lasts for years, the enrollment
criteria cannot change over time. For instance, cancer patients are enrolled at
their first metastasis, but over the years new technology allows for earlier
diagnosis.

@ End point is consistent. In a cancer study, do we count deaths from car
accidents as deaths? Counting or not counting makes sense, but the decision
has to be taken before the study.

@ Average survival does not change over time. If the nature of the disease
changes over time (e.g., a rapidly evolving infectious pathogen), then results
are difficult to interpret. If the treatment (including supportive care) changes
over time, ...
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@ Starting time clearly defined. For instance, the first hospital admission. Do
not rely on the patient remembering when he first had symptoms.

Do we remove patients that they before they could start treatment? This
leads to bias, especially if one treatment can start immediately (medication),
but the other requires preparation or scheduling (surgery). Most study follow
a policy of intention to treat.

@ Censoring is unrelated to survival. If some patients dropout the study
because they feel too sick or they thought the treatment was not useful, then
the censored data is related to the disease progression or response to therapy
and the analysis is invalid. In these cases it is recommended to analyze the
data censoring the dropouts and excluding them. If the results of both
analyses coincide, then the result is clear. If they do not coincide, then the
study results are ambiguous.
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Outline

© Confidence Intervals

@ Confidence interval for counted data
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Poisson distributed counts (number of events occurring
independently of the time since the last event and at a
fixed rate). The variance of Poisson is equal to its mean.

@ Babies born in an obstretics ward each day.
@ Number of eosinophils see in one microscope field.

@ Number of radioactive disintegrations detected by a
scintillator in 1 minute.

Binomial distributed counts (number of Bernouilli
successes, each with a fixed probability, occurring
independently)

@ Number of heads in 50 coin flips.
@ Number of left-handed and right-handed in a sample.

@ Number of male and female in a sample.
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Negative binomial distributed counts (number of
Bernouilli successes, each with a fixed probability,
occurring independently before r failures are observed).
This distribution is used for overdispersed Poisson counts
(the variance is larger than its mean). Negative binomial
has two parameters (p and r) that can be adjusted to the
observed data.

@ Number of parasites in a blood specimen.
@ Number of alcoholic drinks taken over a period of
time.

@ Incidence rate of mastitis in cattle.

@ Annual counts of tropical cyclones in the North
Atlantic.
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Poisson distribution

Poisson Distribution for Different
Values of A

£
oy
4
¥

B

=
N

probability of occurrence
s £
- w

5

o

) N % w w2 g 2 & 2 ]
no. of occurrences

e e

Distribution examples for event rates of A = 2,4, 6,10 counts/min, counts/field,
counts/period, ...
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Assumptions of Poisson distribution

@ The event is clearly defined (the cell type in a microscope field is sometimes
difficult to determine).

@ Each event occurs randomly, independently of other events (baby twins in an
obstretics ward violate this assumption, parasite aggregations in blood
samples too)

@ The average rate does not change over time.

@ Each event is counted only once (in a study of airplanes close to collide,
researchers asked pilots and copilots how many times they were about to
collide with another plane; some events were counted twice because the pilots
and copilots of the two planes were interviewed separately).

1. Confidence Intervals August 13, 2017 23 /27



Confidence interval. Larger samples are better.

@ You carefully dissect 1 bagel and find 10 raisins. If
raisins do not aggregate and the recipe does not
change over time, the 95% confidence interval is
between 4.8 and 18.4 raisins per bagel.

@ You carefully dissect 10 bagels and find 9, 7, 13, 12,
10, 9, 11, 9, 10 and 10 raisins. A total of 100 raisins
in 10 bagels (an average of 10 raisins per bagel). For
100 objects counted, the 95% confidence interval is
from 81.36 to 121.63. If we divide by 10, then the
confidence interval for the number of raisins per
bagel is from 8.1 to 12.2. (A much smaller
confidence interval.)
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Confidence interval. Larger samples are better.

If we observe C counts, then ...

@ ... the exact confidence interval is

1, 1,
5X%.2c <A< 2 X1-%2(C+1)

@ ... an approximated confidence interval is

C—z.5VC<A<CHz5VC

Remind that for o = 0.05, z_g = 1.96
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Confidence interval

WE'RE 957

WHEN WE SAY THIS!

CONFIDENT, ..

IN OTHER WORDS, J

... THAT THE
POPULATION AVERAGE
IS SOMEWHERE INSIDE

THIS RANGE!

... IT MEANS THERE'S A
5% CHANCE THAT WE'RE
WRONG ABOUT THIS,

I WHICH CASE, THE
POPULATION AVERAGE 1S REALLY
SE..

.. AND WE
MISSED THE MARK
ENTIRELY!

1. Confidence Intervals
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Outline

© Confidence Intervals
@ Confidence interval for a proportion
@ Confidence interval for survival data
@ Confidence interval for counted data
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Outline

© Continuous variables
@ Introduction
Graphical representation
Quantifying scatter
Gaussian distribution
Confidence intervals for parameters
Error bars
Practice
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Outline

© Continuous variables
@ Introduction
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Discrete vs continuous variables

O S Discrete data: Number of eosinophils per microscopy

50 2®  field: 0, 1,2, ..
: ® : ; Continuous data: pH of viable eosinophils: 6.00, 6.01,
@) . 0602, .., 7.49, 7.50

o, 1

Assume that we n;:easure the temperature to 9 people and get the data:
37.0, 36.0, 37.1, 37.1, 36.2, 37.3, 37.0, 37.0, 36.1

We may calculate a measure of centrality:

° Mean: ﬁ — 37.O+3640+37.1+37.1+369.2+37.3+37.0+37.0+36.1 = 36.76
o Median: 4 =(36.0,36.1,36.2,37.0,37.0,37.0,37.1,37.1,37.3) = 37.0
o Trimmed mean: ji = ;é<6+36.1+36.2+37A0+377Ao+37.o+37.1+37A1+;1/§ — 36.79
o Geometric mean:
fi = exp (Iog36.0+|og 36.1+|og36.2+Iog37.0+Iogg7.0+log37.0+|og37.1+|og37.1+|og37.3) —36.75
@ Harmonic mean: = ——— 1 — =36.75

3701 3%.0
e Mode: ji = (36.0,36.1,36.2,37.0, 37.0,37.0,37.1,37.1,37.3) = 37.0

2. Continuous variables August 13, 2017 4 /41
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nt measures of centrality

Mean: Average of the input samples. The best for normal variables (heights,
volumes, weights, ...)

Median: Half the samples are below this value, and half the samples are
above this value.

Trimmed mean: Average removing the lowest and highest values. Robust to
outliers.

Geometric mean: Average in the logarithmic scale. The best for log-normal
variables (number of cells, gene expression, ...)

Harmonic mean: Average in the inverse scale. The best for speeds.

Mode: The most frequent value (it does not necessarily be in the middle of
the distribution).
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Types of variables: Interval variables

@ A change of an interval (e.g. 1°) is the same all
along the interval).

@ The zero reference may be arbitrary (Celsius or
Fahrenheit degrees).

o If the temperature of an object is 20° and of another
object 30°, the temperature of the second object is
not 50% larger (in Fahrenheit scale, the percentage
would be different).

o Calculating differences between two interval
variables makes sense.

o Calculating ratios between two interval variables
does not make sense.

2. Continuous variables August 13, 2017 6 /47



Types of variables: Ratio variables

@ The zero reference is not arbitrary (height, weight,
enzyme activity, temperature in Kelvin).

@ |t makes sense calculating the ratio between two
values. A weight of 4 grams is twice the weight of 2
grams.

o Calculating differences and ratios between two ratio
variables makes sense.
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Types of variables: Ordinal variables

ORDINAL VARIABLE - INTERVALS ARE UNKNOWN

“Good"—— 3 ‘Good"—— 3 “Good"—— 3 (POSITIVE)
25 25 “‘Neutral'—— 2.5 1
2 “Neutral'—— 2 2 SENTIMENT
“Neutral’—— 1.5 1.5 1.5 l
“Bad™ 1 “Bad™ 1 “Bad™ 1 (NEGATIVE)
Situation A Situation B Situation C

@ Ordinal variables only express a relative rank between variables.

o Differences or ratios are meaningless.
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Types of variables: Categorical variables

o Categorical variables represent labels (male, female;
no, yes; false, true; red, green, blue, ...; cat, dog,
horse, ...)

@ No mathematical operation is allowed even if they
are encoded as numbers (0, 1, ...)

August 13, 2017 9 /47




Variability and bias

Variability may have different sources:
@ Biological: There is an intrinsic variability associated to individuals.

@ Experimental random errors: Reading (e.g. height) is subject to
measurement errors (normally assumed to be Gaussian, but not necessarily)

Bias may have different sources:

@ Systematic errors: The instrument is wrongly used by the experimenter (zero
offset, calibration, scale factors, ...), defective instruments, software bugs, ...

Bias data is not accurate.
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Variability and bias

Low Variance High Variance
%
2
4]
g
]
[}
-,
L]
+*,
.
=
]
4]
=
Bb
T

Fig. 1 Graphical illustration of bias and variance.
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Outline

© Continuous variables

@ Graphical representation

2. Continuous variables August 13, 2017 13 / 47



Plots: 1D Scatter plots, histograms and boxplots

Histogram of MPG

10 15 20 25 30 3
Boxplot of MPG
s M I S |
T T T T T T
10 15 20 25 30 3
Stripchart of MPG
T T T T T T
10 15 20 25 30 3
Median
Q)

Maximum Value in
75th Percentile the Data
(@)

Minimum Value in
the Data

Potential il Potential
Interquartile Range "
Outliers (1GR) Outliers
Maximum (Minimum Value in the Data, Q, — .5*IQR)

Minimum (Maximum Value in the Data, Q; + .5IQR}

17

Continuous variables August 13




Plots: Time plots and data smoothing

NTREND

T T T T T T T
800 1000 1200 1400 1600 1800 2000

Typical data smoothers are splines and LOESS.
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Plots: 2D Scatter plots and 1D histograms

SET T T T T T T e
100 T T T T T
' R=0763 af 1
F y=081x+5909 ®
90f 3
E iy 4
° 80F =
F of ]
3
g f
2 F
= E
S 7f E af ]
60F- E af 3 ]
s0b . . . . L ar 1
-10 0 10 20 30 40 50
Study Time (minutes) L L L L L L
—4 =3 -2 -1 o 1 2 3

17

Continuous variables August 13



|a\%‘w

iF? %

Mid Price

LE WL

(2]
4+
o

o

—

(O]
4+
]

Q]

O
V)]
Q
(Q\]

n

4+

o
o



Plots: 2D Scatter plots

Sepal Length (mm) Sepal Width (mm) Petal Length (mm) Petal Width (mm)
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Plots: 2D histograms

hsurf3
50000

Option SURF3 example
PR Entries
—— Meanx  -0.7255
Mean y —0.9554
SidDevx  1.288
Sid Dev 5.596

AN
VRNEEET)
%
et

Pr
S

0
15 S e
=St
5
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Plots: 3D Scatter plots

Power (kW)
165

150
135
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Scatter plots

—_{_L______f__-—t_"
R%0.06 REXTHOR, THE DOG-BEARER

T DONT TRUST LINEAR REGRESSIONS WHEN ITS HARDER
O GUESS THE. DIRECTION OF THE CORRELATION FROM THE
SCATTER PLOT THAN T FIND NELJ CONSTELLATIONS ON IT.
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Outline

© Continuous variables

@ Quantifying scatter
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Standard Deviation

Small standard
deviation

Large standard

The standard deviation (SD) expresses how samples differ from the average. For
example, the average human temperature is 36.82°C with a SD of 0.41°C.
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Standard Deviation

0.15% 0.15%

-1sD Mean +15D

About 68% of the samples normally fall between £1SD.
About 95% of the samples normally fall between +2SD.
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Standard Deviation

The sample mean and standard deviation are calculated as

5 = ﬁ()

=
I
2\'—'

Note that sample variance is the square of the standard deviation, 52.

Means and standard deviations are sensitive to outliers. The equivalent robust
estimates are the median and median absolute deviation (MAD)

med
mad

med(x;)
med(|x; — med|)
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Standard Deviation

@ N is the number of independent samples (biological replicates).

@ Technical replicates (measuring the same individual multiple times) does not
give independent samples.

@ Multiple measurements from the same individual (n = 1 experiments) is
representative of the samples obtained from that person, not from the whole
population.

@ The SD from 100 samples is approximately the same as the SD from 1000
samples. The SD quantifies the underlying variability, as long as the sample
is large enough to gain some precision, the SD estimates should not change
with the sample size.
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Histogram summary

1

Q2

Q3

25%

25%

25%

The interquartile range shows the difference in

25% the central 50% of the data.

\—"Y\—J

Interquartile Range
=Q3-Q1

data range

The 5-number summary shows a quick look
summary of the histogram.

} maximum (lDOth percentile)
upper quartile (75" percentile)
interquartile range median (50" percentile)

| lower quartile (25" percentile)

minimum (0™ percentile)

2. Continuous variables August 13, 2017 27 / 47



Variability
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Outline

© Continuous variables

@ Gaussian distribution
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Gaussian distribution

o M| e iy,
2 6

¥ 4 s 1216 20 24

) )
o
YL I il by il
L) L
\',,’"' o7 wul li. 7 il li...
/ 7

2 4 6 8 10 12 -I-Q'-,';-l-\“-,’; 5 10 15 20 25 30

o o XL 1)
e a @ llllle,. [Yove il

3 6 9 12 15 18 %0 % > 6 12 18 24 30 36
55+

The Gaussian is the limit distribution of many additive random variables (central
limit theorem). Variations in experiments may be caused by many factors at the
same time: imprecise weighing of reagents, imprecise pipetting, the random
nature of radioactive decay, nonhomogeneous suspensions of cells, ...
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Gaussian distribution

Normal,
Bell-shaped Curve

1
1
Percentage of :

'
|
cases in 8 portions : 2.14% 34.13% | 34.13% |[13.59% 2.14%
of the curve !
Standard Deviations -40 -30 -20 -1o 0 +1o +20 +30 +40
Cumulative | ! ! | ! ! |
Percentages 0.1% 23%  159%  50% 841%  977%  99.9%
I 1 T T 1T T T [ T T T[T 1T T T
Percentiles 1 5 10 20 3040 50 60 70 80 90 95 99
Z scores  -4.0 30 20 10 0 10 +20 3.0 +4.0

This is the “probability density function™ It indicates the likelihood of each value.
On this curve we can measure percentiles (the 95% percentile is a value such that

95% is a value such that 95% of the values drawn from this distribution occur

below this value). We may normalize a value through its z-score

_xX—n
n g
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Not everything is Gaussian (Normal)

Normal
skrwmess - 0.00
buria - 5,00 0.9109 +1.70
|

E) E] -1 o 1 2 3
Student's «Dist.
with 6 df
skewness - 0.60
buriss - 600 09111 = 1.656
I
4 3 4
LogNormal
EleX) - 0, SD (i) -

shewmessiX) -
FuriasitX) - 4.
3 i
Uniform ‘
skewmess - 0.00
fursis - 1,80 09111 ‘ £ 1.578
El 2 el 0 1 2 3
Triangular
shewmess - 0.57
aereasis = 2.4 + 1.56
kuriasis = 240 0.9106
El E] e a 1 2 3

Many other distributions exist. Even there are variables for which there are no
closed-form distributions. In the example above, the distributions have been
normalized to have 0 mean and standard deviation 1. The red arrows indicate a
central interval with 91.1% of the population.
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Log-normal distribution

The logarithm of our measurements are Gaussian. This is typical of cell counts
and concentrations (e.g., EC50, concentration to achieve 50% of the effect,
pEC50 is its logarithm).

0.08

9
007
0.06 8
FA
o [ °
& 0.04 2 .
a O 74 °
[ L
£ 003 o3
0.02
6
0.01
0.00
01 1 10 100 1000 5-
Travelled distance (km) day 0

This distribution is well suited for variables that act as multiplicative rather than
additive. They are equally likely to double their value or cur it in half. These
variables should be used in the logarithmic scale and treated, then, normally.
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Outline

© Continuous variables

@ Confidence intervals for parameters
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Confidence interval of a mean

Assume that we measure the temperature to 9 people
and get the data:

37.0, 36.0, 37.1, 37.1, 36.2, 37.3, 37.0, 37.0, 36.1

The mean is 36.76°C and its 95% confidence interval
[36.37,37.14]°C. This means that with probability 95%,
this interval contains the true mean. Note that this
interval is symmetric around 36.76.

The confidence interval is calculated as
ti-g n-10 N ti—a N-10
f— f

VN VN

where t;_g, N —1 is the 1 — 5 percentile of a Student’s t distribution with N —1
degrees of freedom.

~
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Confidence interval of a standard deviation

Assume that we measure the temperature to 9 people
and get the data:

37.0, 36.0, 37.1, 37.1, 36.2, 37.3, 37.0, 37.0, 36.1

The sample standard deviation is 0.50°C and its 95%
confidence interval [0.34,0.96]°C. This means that with
probability 95%, this interval contains the true standard
deviation. Note that this interval is not symmetric
around 0.50.

The confidence interval is calculated as

R N—-1 | [N-1
s ,0
X%—%,N—l X2%,N—1

where X%f%,/vq is the 1 — & percentile of a central x? distribution with N — 1
degrees of freedom.
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Assumptions of confidence intervals

@ Random (representative) sample. In clinical studies, patients are not
randomly sampled from the patient population. They are included in the
study because they were at the clinic at the right moment (convenience
sampling). This assumption would also be violated if the body temperature is
from people who joint the study because they suspected their body
temperature was normally too high or too low (voluntaries in clinical studies
are not random samples!)

@ Independent samples. All subjects are sampled from the same population and
independently selected from others. This assumption is violated if two
siblings are included in the study, or if the same person is measured twice.

@ Accurate data. Violated if the thermometer was not correctly placed or it was
misread.

@ Population distribution. Confidence intervals can only be constructed if the
underlying, population distribution is known. The formulas in the previous
slides are valid only for Gaussian populations.
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Properties of confidence intervals

@ More samples. The larger the experiment, N, the narrower the Cl (we have
less uncertainty about the underlying parameter).

@ More confidence. The larger the confidence, 1 — «, the wider the Cl (we need
to enlarge it to be surer that it contains the true parameter).

What if the assumptions are violated?

In many situations, these assumptions
are not strictly true. Then, the Cl may
still be a reasonable approximation of the
range of the underlying parameter
(depending on the severity of the

. violation). But the confidence will, for
sure, not be the one we think (95%).

Assume a spherical cow of uniform density.
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Confidence Intervals

TAKING A LOOK AT THE HIGH TEMPERATURE THIS GUY'S
TOMORROW'S WEATHER... WILL BE BETWEEN 40 NEVER WRONG
BELOW ZERO ANP

200 ABOVE !

5 1568 PAMS, WC. A1 Fighis Pasarsed
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Outline

© Continuous variables

@ Error bars
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Cls vs SD vs SEM

Box plots with optional
d Means as bar plots b Means as scatter plots C il 5
Mot recommended Error bars
4 sem. 95%Cl 419
3 3 3 i I 3
2 2 37 |-T-| o 24
1 1 lirlj 1 1 I I 14
|j 05 Ij i I
0 0 0 0
ABC
-1

@ SD is the standard deviation of the population
e SEM (standard error of the mean) is the standard deviation of our estimate

of the mean
SD

SEM = ~—
VN

@ Cl is about our estimate of the mean

SEM and Cls show how accurate is our estimate of the mean, not how variable is
our data. To show the variability of the data show a boxplot or a histogram.
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Boxplots better than ji1 + SD

Frequency

............... Y
750 225

Number of citations (bin width = 20)

fi + SD implicitly imply that the distribution is symmetric (Gaussian), although
this is not always the case as in this example of the number of citations of 500

Nature papers.
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Outline

© Continuous variables

@ Practice
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Compute the mean, median, SD, percentiles of a population.
Compute the SEM of the mean estimate.

Compute the 95% Cl of the mean estimate.

Represent a boxplot of the population.

Represent a histogram of the population.

Multiple scatter plots of several variables.
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Outline

© Continuous variables
@ Introduction
Graphical representation
Quantifying scatter
Gaussian distribution
Confidence intervals for parameters
Error bars
Practice
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© P-values and statistical significance
@ p-values
@ Statistical hypothesis testing
@ Not significant results
@ Significance tests are not equivalence tests
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Outline

© P-values and statistical significance
@ p-values
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What is a p-value through examples

We flip a coin 20 times and observe 16 heads and 4 tails. Is it a fair

coin?. On average, for a fair coin we would have expected 10 heads
) and 10 tails. 16 heads is too far from 10, can we say the coin is not
y fair?
< K\ This table shows the probability (%) of observing different number of
heads in 20 flips.

0 or 20 0.000 lor19 0.002 2o0r18 0.018 3orl7 0.109 4 or 16 0.462
5or 15 1.479 6 or 14 3.696 7orl3 7.393 8or 12 12.013 9or 11 16.018
10 17.620

We should be suspicious on the coin if we observe a result as strange as 16 heads
or even stranger. These results are 0, 1, 2, 3, 4, 16, 17, 18, 19, 20 heads.

p—val = Pr{o} +Pr{1} +Pr{2} +Pr{3} +Pr{4}+
Pr{16} +Pr{17} +Pr{18} +Pr{19} +Pr{20}
= 1.18% = 0.0118

The p-value, that is, if the coin is fair, the probability of observing a result as
extreme or more as the actually observed (16 heads) is 1.18%. That is, just by
coincidence, a fair coin flipped 20 times (and repeated this experiment many
times) could have 0, 1, 2, 3, 4 or 16, 17, 18, 19, 20 heads in the run in 1.18% of
the cases. Now it is your turn to decide. In this single run, we observed 16 heads,
would you say the coin is fair?
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What is a p-value through examples

We randomly assigned 972 surgical patients to receive an
antibiotic ointment or an ointment without an active
medication.

Infections occurred in 6.6% of the patients who received
the antibiotic and in 11.0% of the patients who received
the inactive ointment. That is, the risk of infection was

67% higher in the inactive ointment group (% = 1.666).

If we assume that the risk of infection is the same in both
groups and that the antibiotic ointment is not helping to
prevent infections, what is the probability of observing a
result as extreme as this one or more?

p—val =1% = 0.01
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What is a p-value through examples

More likely observation

¥

P-value

Very un-likely
observations

Very un-likely
observations

Probability density

Observed

data point\

Set of possible results

~
-«

1
>

A p-value (shaded green area) is the probability of an observed
(or more extreme) result assuming that the null hypothesis is true.
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The null and alternative hypotheses

@ If the coin is fair, then ...
@ If the the risk of infection is the same in both groups and that the antibiotic
ointment is not helping, then ...
The null hypothesis is the state of affairs we want to disprove. The alternative
hypothesis is the opposite (what we want to prove):
@ The coin is not fair.

@ The risk of infection is not the same in both groups or the antibiotic
ointment is helping.
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p-values are random variables

Miller (1986)gave data comparing partial thromboplastin times for patients whose
blood clots were dissolved (R=recanalized) and for those whose clots were not
dissolved (NR).

o R: 4186 90 74 146 57 62 78 55 105 46 94 26 101 72 119 88

e NR: 34 23 36 25 35 23 87 48
The (bootstrap) distribution of p-values would be

Density
Density

0 200 400 600 800
0.00 0.10 0.20 0.30

T T T T T 1
0.000 0.002 0.004 0.006 0.008 0.010 0 1 2 3 4 5 6 7

p-value -log10(p-value)

That is, with this data (or similar) we could have obtained a p-value going from
0.000 to more than 0.01. Its logarithm is approximately normal.

Boos and Stefanski. p-value precision and reproducibility. The American Statistician, 65:4, 213-221 (2011).
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p-values and replicability

1

0.8
z
35 06
8
£
g 04
<

02

0

5 .05 005 0005 00005
i 01 0001 0 02 04 06 08 1 12 14

Rl o1 o «
p vaiue at Study 1 (log scale}

n =20

Replicability

5 05 005 0005 00005
' 1 o1 001 0001 0 02 04 05 08 1 12 14
p value at Study 1 (log scale) d at Study 1

Figure 1. Estimated replicability as a function of p value (log scale) and effect size (d), assuming a two-treatment repeated-measures
design with selected samples sizes (ns) and selected levels of between-treatment population correlation (r) of the dependent vari-
able. The shaded portion of each plot gives values that are not properly replicabilities because the initial result is not a null hypoth-
esis rejection in these regions. These regions of the plot show the probability of obtaining a null hypothesis rejection (at o =
05, two-tailed) from a sccond study, contingent on the p valuc of a first study that did not reject the null hypothesis.

If we are in the limit of
the p-value decision,
there is a high chance
(50%) that a replicate
may result in a
non-significant
difference.

Greenwald, A. G.; Gonzalez, R.; Harris, R. J., Guthrie, D. Effect sizes and p values: what should be reported and what should be replicated?

Psychophysiology, 1996, 33, 175-183
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p-values and

replicability

?.053 o 25
244 ———t— 24
0 23
e 22
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**.005 i 1
Ho it
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Difference in verbal ability

Successive experiments

This is simulated data,
all experiments have a
mean difference of 10
and a SD=20 (effect
size=10/20=0.5).
However, some of the
experiments are highly
significant and some
others are not. The
p-value range from
<0.001 to 0.76!!

Better use Cls, rather
than p-values.

Cumming, G. Replication and p intervals: p values predict the future only vaguely, but confidence intervals do much better. Perspectives on Psychological

Science, 2008, 3, 286-300
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Common mistakes on the p-value

Some researchers compared the mean in two groups (treatment and control) and
found the p-value to be 0.03.

@ If the two population means were identical (null hypothesis), there is a 3%
chance of observing a difference as large as you observed (or larger).

@ Random sampling from identical populations would lead to a difference
smaller than what you observed in 97% of the experiments, and larger than
you observed in 3% of the experiments.

@ There is a 97% chance that there is a real difference between the two
populations and 3% chance that the difference is a random coincidence.

@ The p-value is the probability that the result is due to sampling error.

@ The p-value is the probability that the null hypothesis is true.

@ The probability that the alternative hypothesis is true is not 1 — pval.

@ The probability that the experiment will hold up when repeated is not
1 — pval.

@ A high p-value does not prove that the null hypothesis is true.
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P-values

PBE  INTERPRETATION

0.001

0.01
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Outline

© P-values and statistical significance

@ Statistical hypothesis testing
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Statistical hypothesis testing

Statistical hypothesis testing helps to automate decision
making:
@ In a pilot experiment, we must decide whether to
proceed to further experimentation with this drug.
@ At Phase Il, we must decide whether to go to Phase
M.

@ At production quality control, we must decide if a
batch can be released.
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Innocent until proven guilty

A juror starts with the presumption
of innocence of the defendant.

A juror bases his decision only on
factual evidence presented at the
trial and should not consider any
other information (e.g., newspaper
stories).

A juror reaches the verdict of guilty
when the evidence is inconsistent
with the assumption of innocence.

Otherwise, the juror reaches the
verdict of non-guilty.

If the juror is not convinced, he can
say “I'm not sure”.

3. P-values and statistical significance

A scientist starts with the
presumption that the null hypothesis
“there is no difference” is true.

A scientist bases his decision only
on data from one experiment,
without considering what other
experiments have concluded.

A scientist reaches the conclusion of
statistical significant difference when
the p-value is small enough to make
the null hypothesis very unlikely.

Otherwise, the scientist reaches the
conclusion of non-significantly
different.

If the scientist is not sure, he can
collect more data.
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Some concepts

Table 7-2  Type | and Type |l Errors
True State of Nature
The null The null
hypothesis is | hypothesis is
true false
We decide to Type | error Correct
reject the (rejecting a true decision
null hypothesis | null hypothesis)
Decision

We fail to
reject the
null hypothesis

Correct
decision

Type Il error
(failing to reject
a false null
hypothesis)
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Some concepts

Figure 4: Type I and Type II Errors in Hypothesis Testing

True Condition

Decision H, is true H, is false

Do not reject Hy, Correct decision Incorrect decision

Type 11 error

Reject H, Incorrect decision Correct decision
Type I error Power of the test
Significance level, o, =1 - P(Type Il error)

= P(Type I error)

Symbols Phrase p-value
ns Not significant p>0.05
* Significant p<0.05
*x Highly significant p<0.01
*Hk

Extremely significant p<0.001
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@ Stargazing: Considering results in a paper only important if they have 1, 2, 3,
. stars. p-values are not as reproducible as Cls, and they only mean at
showing that the result is not generated under the null hypothesis, not that
the result is relevant.

@ Significance is not relevance: Being statistically significant does not mean
that the result is relevant.

@ p-hacking to obtain significance: Trying different hypothesis tests to see if
one of them proves to be significant, dynamic sample size (adding more and
more data until the result is significant), taking subsets of the data on which
the difference is significant, playing with the definition of outliers, changing
from a two-sided hypothesis to a one-sided.
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Cls and hypothesis testing

These two techniques are based on the same theory

o Cls compute a range that 95% of the time will contain the population value
(given some assumptions).

@ Hypothesis testing computes a range that you can be 95% sure would
contain the experimental results if the null hypothesis were true. Any result
within this range is considered not statistically significant, and any result
outside this range is considered statistically significant.

Remember

o If the 95% Cl does not contain the value of the null hypothesis, then the
result must be statistically significant (with p < 0.05).

o If the 95% Cl does contain the value of the null hypothesis, then the result is
not statistically significant (with p < 0.05).
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Cls and hypothesis testing

With N = 12 measurements we observe some difference between the average
observed temperature and the reference (null) value (37°C). However, this result
is not significant

Observed valuel I Null hypothesis

ns pval=0.05 N=12
Cl 95%
1

I I
36.5°C 37°C 37.5°C
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Cls and hypothesis testing

With N = 120 measurements the result becomes significant

1 |
Observed valuel I Null hypothesis

|
EY
N=120
pval<0.05 -

Cl 95%

36.5°C 37°C 37.5°C
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Statistical significance does not imply relevance

We compare the responding proportion in a control and treatment group

Sample size per group | Control | Responding | pval Cl 95%
10 10% 80.0% 0.006 | [44.39,97.48]%
100 10% 26.0% 0.006 | [17.74,35.73]%
1000 10% 14.1% 0.006 | [12.00,16.41]%
10000 10% 11.2% 0.006 | [10.59,11.83]%

They all have the save p-value, but their relevance are rather different (e.g., the
last one is seldom interesting, the effect is too small).
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Significance level, power and false discovery rate

Significance tests

power=0.8 |80% test positive

(80 true pos tests)
Real effect /
]

in10% =
100 tests

20% test negative
(20 false neg tests)

P(real)= 0.1

1,000 tests

o -
‘sig’level = 0.05 95% give negative

= 855 true neg tests
No effect /
in90% =
900 tests

T——_|5% postests

= 45 false positives

Total number of positive tests = 80 + 45

45+80

False discovery rate (proportion of false positives) =36 percent (NOT 5%)

3. P-values and statistical significance
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Significance level, power and false discovery rate

Reject Hp Do not reject Hy
Hy is true A=145 B = 855 A+ B =900
Hy is false C =280 D =20 C+ D =100
A+ C=125 B+ D =875 A+ B+ C+ D =1000

Significance level
A 45

a= AT B 900 0.05
Significance answers the questions:
o If Hy is true, what is the probability of incorrectly rejecting it?
@ Of all the experiments you could run in which Hy is true, what is the fraction
in which you will reach the conclusion that the results are statistically

significant?
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Significance level, power and false discovery rate

Reject Hy Do not reject Hy

Hy is true A=145 B = 855 A+ B =900
Hy is false C =280 D =20 C+ D =100
A+ C=125 B+ D =875 A+ B+ C+ D =1000
Power c 80
]_— = — = —— =
g C+D 100 0-80
D 20
- == 02
C+D 100 0-20

Power answers the questions:
o If Hy is false, what is the probability of correctly rejecting it?

@ Of all the experiments you could run in which Hy is false, what is the fraction
in which you will reach the conclusion that the results are statistically
significant?
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Significance level, power and false discovery rate

Reject Hy Do not reject Hy
Hy is true A =145 B =855 A+ B =900
Hy is false C =380 D =20 C+D =100
A+ C=125 B+ D =875 A+ B+ C+ D =1000

False Discovery Rate
A 45
FDR= ——=—=0.36
A+C 125
FDR answers the questions:
o If a result is statistically significant, what is the probability that Hy is true?

@ Of all the experiments that reach a statistically significant conclusion, what is
the fraction in which Hy is true?
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Significance level, power and false discovery rate

Significance level, statistical power and FDR depend on the sample size, the effect
size and the population variance.

You send your child into the basement to find a tool. He
comes back and says “It isn’t there”. What do you
conclude? Is the tool there (Hp) or not (H;)?

Your conclusion depends on:

@ How long the kid has been looking for. (sample size)

@ How large the tool is (it is easier to find a snow
shovel than a small screw-driver to fix glasses).
(effect size)

@ How messy the basement is. (population variance)
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Informal accounting for prior probabilities

@ Experiment 1: The experiment makes biological sense and the p-value is
0.04. I would tend to believe that Hy is false and that the data confirms my
alternative hypothesis.

@ Experiment 2: The experiment does not make biological sense and the
p-value is 0.04. | would tend to believe that Hy is true and that the
observations are significant just by chance.

@ Experiment 3: The experiment does not make biological sense and the
p-value is 0.0000004. Although, for me, the experiment goes against my
biological knowledge, the data evidence is so strong that probably Hy is false
and | have to revise my knowledge base.

(Extraordinary claims require extraordinary proofs (Carl Sagan)).

Posterior Beliefs

Evidence

Prior Beliefs
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Post-hoc power analysis (

Post-hoc power analysis is the estimation of the statistical power once the
experiment has been performed. We have observed some effect size, and now we
calculate what would be the statistical power if the true underlying effect size was
the one observed.

_pwir

obs
02 04 06 08 10
| | | | |

0.0 0.2 0.4 0.6 08 1.0

Unfortunately, post-hoc power is simply another way of reporting the p-value.
There is a close relationship between the observed power and the observed
p-value. If you want to look at your experiment retrospectively, look at the CI.
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© P-values and statistical significance

@ Not significant results
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Not significant results

The other day Michael Jordan and me shot baskets. He
shot 7 straight free throws. | hit 3 and missed 4. Being a
statistician, | rushed to the sideline, calculated the
p-value by Fisher's exact test which resulted to be 0.07.
That meant, there was no statistically significant
difference between Michael Jordan and me!!!

A high p-value does not make the null hypothesis true. It
may be that the experiment was not large enough.
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Not significant results

Two groups of pregnant women:

@ One of the groups received routine ultrasound twice
during pregnancy. In 4.98% (=383/7685) of the
cases, an adverse outcome was detected.

@ The other group received ultrasound only when
indicated by clinical reasons. In 4.91% (=373/7596)

of the cases, an adverse outcome was detected.
The null hypothesis is that the risk of adverse outcome is the same in both

groups. The relative risk is 1.01 (=4.98/4.91) and has a 95% confidence interval
[0.88,1.17] and the p-value is 0.86.
Possible interpretations:

@ The CI contains 1. Routine ultrasounds are not helpful nor harmful. They
could be skipped.

@ The Cl is compatible with a relative risk of 0.88, that is there is a 12%
reduction in the risk of adverse outcome by routine use of ultrasounds.

© The Cl is compatible with a relative risk of 1.17, that is there is an increase
of 17% in the risk of adverse outcome. May the increase because ultrasounds
are harmful to the fetus?
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Believe me..! P value greater than
0.05 indicates chance of your
drowning is not significant.
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© P-values and statistical significance

@ Significance tests are not equivalence tests
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Significance vs. equivalence tests

@ Significance tests:

Ho : pi1 = po
Ha: 1 # pio
o Equivalence tests:
Ho : pa # p2
Ha:pp = po
14
12
@—EMBEDA 100 mg capsules

ER morphine sulfate 100 mg capsules

EMBEDA

0 ] 12 18 24 30 36 42 48 54 60 68 T2
TIME (HOURS)

n=34

MEAN SERUM MORPHINE CONCENTRATION (ng/mL)
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Use Cl to determine equivalence

Non-equivalent Equivalent Non-equivalent

D (inconclusive)

E (inconclusive)

F (inconclusive)

80% 100% 125%

Ratio of peak concentrations

To verify bioequivalence check that the 95% Cl is within the bioequivalent area.
Standard significance testing is not valid. Equivalence tests translate into two
significance tests (Hp : R < 0.8 and Hp > 1.25).
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Statistical truth

“Well, Pl be damned if 'l defend to the death your

right to say somerhing that's siatistically meorvect.”
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© P-values and statistical significance
@ p-values
@ Statistical hypothesis testing
@ Not significant results
@ Significance tests are not equivalence tests
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@ Statistical assumptions
@ Small number of tests
@ Gaussian distribution
@ A single population (no outliers)
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@ Statistical assumptions
@ Small number of tests
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Small number of tests

If the fishing expedition catches a boot, the fishermen should throw it back and
not claim they were fishing for boots. (James Mills)

In an experiment with DNA microarrays, 20.000 genes are tested for association
with disease, condition, etc. If the confidence level is 0.05, on average, even if no
gene is related to the disease, 1.000 genes will be identified as related to it.
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Small number of tests

Corrections for multiple, K, comparisons:
@ Bonferroni: Lower the confidence level to a/K. E.g., a gene is identified as
related to the disease if its p-value is below

0.05
20000 — 2.50e -6
The family-wise confidence level is still 0.05. Bonferroni is sometimes too
conservative.
@ Benjamini and Hochberg FDR: Sort the p-values in ascending order. E.g., the
i-th gene is identified as related to the disease if its p-value is smaller than
i%- For example,

p-value | i | Threshold | Significant

le-9 1 2.50e — 6 Yes
le-8 2 5.00e — 6 Yes
le-7 3 7.50e — 6 Yes
le-6 4 1.00e — 5 Yes
le-5 5 1.25e — 5 Yes
le-4 6 1.50e —5 No
le-3 7 1.75e -5 No

No
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Multiple subgroups

We study the effect of drugs A and B on the survival time of patients
with coronary heart disease. We may analyze the data as
o Comparison between 2 groups: A and B

@ Comparison between 2 groups within subgroups of patients
depending on the number of arteries with disease, the ventricle
contraction and ECG findings

#Arteries | Ventricle ECG

1 Normal Normal

1 Normal Abnormal
1 Abnormal | Normal

1 Abnormal | Abnormal
2 Normal Normal

2 Normal Abnormal
2 Abnormal | Normal

2 Abnormal | Abnormal

The number of comparisons starts to be high for not making any
multiple testing correction and we may find a small p-value in
one of the groups just by chance.
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Multiple sample sizes

If you run an experiment and the result is not quite significant, it is tempting to
add a few more samples to the experiment and test again. You repeat this
procedure until the result is significant

s o N=12

s « N=16

s o N=20

s o« N=24

The problem with this approach is that you keep collecting data only when the
result is not statistically significant and stop when the result is statistically
significant. If the experiment were continued a little bit longer, you might be back
to not statistically significant, but you will never know because you stopped.

Lookup sequential data analysis for a rigorous way of carrying out an experiment
by adding samples (the trick is to change the significance level at each
comparison).
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Multiple geographical areas

5 children in a particular school developed leukemia last year. Is that a
coincidence? or does the clustering of cases suggest the presence of an
environmental toxin that caused the disease?

What is the probability that 5 children in a particular school would all get
leukemia this year?

We may estimate this probability if we know the overall incidence rate of leukemia
in children and the number of children enrolled in the school (Binomial
distribution). The probability is very low and parents are alarmed.

But you have asked the wrong question once you have observed the cluster. The
school only came to your attention because of the cluster of cases. The right
question is

What is the probability that 5 children in any school would all get leukemia this
year?

You would have to define the geographical area to include and the number of
schools, size of schools, ... but, this probability is much higher.
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Multiple secondary outcomes

@ When a clinical trial is designed, there must be some clearly defined primary
outcomes (variables we care the most, and where the statistical analysis will
be focused).

@ During the clinical trial, we will measure many other variables. But they
should be treated as secondary outcomes (they may strengthen the scientific
argument of the primary outcomes and lead to new hypotheses to study).
But, if you measure many secondary outcomes, you should expect some of
them to be significantly different between groups just by chance (Type |
error).

o If a better understanding of the disease is achieved during the clinical trial,
we may change the primary outcomes, but without looking at the data first.

@ You cannot change your primary outcomes after looking at the data and
choosing those variables with lowest p-values.
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Multiple ...

You

shall not ... after looking at the data

... decide the definition of groups (comparing drugs A and B in Pisces
patients; if you inspect many different ways of grouping, some of them will be
significant by chance)

. choose the important variables for regression (drug response as a function
of mother's age and Real Madrid score that week; if you inspect many
different combinations of predictors, some of them will be significant by
chance)

... preprocess the data in multiple ways (smoothing, outlier rejection,
logarithmic transformation, ...; if you inspect many different preprocessing
schemes, some of them will be significant by chance)

. analyze the data in multiple ways (testing all analysis possibilities of a
program; if you try many different hypothesis tests, some of them will be
significant by chance)

Be skeptical of results obtained by data torture or p-hacking.
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Outline

@ Statistical assumptions

@ Gaussian distribution
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Gaussian distribution

Data Gaussianity is assumed by many parametrical tests:
@ Student's t tests (about means)
@ ANOVA and Snedecor's F tests (about means and variances)
@ X2 (depending on the source of data)
@ Some tests and sample size formulas for proportions
° ..

Gaussian functions are easy to deal mathematically and they approximate well
many processes (especially those that are the result of the sum of many
contributions; Central Limit Theorem).
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Gaussian distribution

The Gaussian is an idealization of a random process (e.g., it extends to infinity,
but in practice blood pressures, weights, heights, concentrations, ... cannot). The
question is whether real data is well approximated by a Gaussian distribution.

Gaussian data may not necessarily look Gaussian.

N=120

%7 w4 me w8 a1 12 34
Tomperatrs (C)

a7
Temperatre (C)

N=1.2M
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Normality tests

There are a number of statistical tests (D'Agostino-Pearson, Shapiro-Wilk,
Kolmogorov-Smirnov, Darling-Anderson) that help to quantify if the data
contradicts the Gaussian assumption.

o If the p-value is high, then the observed data is not incompatible with a
Gaussian distribution.

@ If the p-value is low, then the observed data contradicts the hypothesis that
the data was drawn from a Gaussian distribution (null hypothesis).

If the data is not normal, you may:

e Transform it (taking logarithms from log-normal data (dillutions, number of
cells, ...)).

o Identify and remove outliers.
@ Switch to a non-parametric test that does not assume normality.

@ Ignore small departures from the Gaussian ideal (many parametric tests are
robust to mild violations).

4. Statistical assumptions August 12, 2017 15 / 24



Normality tests

Should | use a normality test to decide whether to perform a parametric or
non-parametric analysis?

@ Make sure that the data is not log-normal.
@ Make sure that there are no outliers.

@ The decision on parametric or non-parametric is most important with small
sample sizes, but with small sample sizes most normality tests cannot show
that the data is not Gaussian (high p-values). This gives a false confidence
on the use of parametric analysis.

@ Remind that in a long term analysis, data should be analyzed in the same way.
@ Remind that non-parametric tests are less powerful than parametric ones.

Overall, the decision to go parametric or not is hard and requires experience,
thinking and perspective.
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Non-parametric tests

Some Commonly Used Statistical Tests
Corr di
Normal theory based test orrespon ‘mg Purpose of test
nonparametric test
. Mann-Whitney U test; C two ind dent
¢ test for independent samples lann-Whitney U tes ompares two independen
Wilcoxon rank-sum test samples
. wil tched pai . .
Paired 7 test ficoxon matchec pairs Examines a set of differences
signed-rank test
. . Spearman rank correlation | Assesses the linear association
Pearson correlation coefficient . .
coefficient between two variables.
One way analysis of variance | Kruskal-Wallis analysis of
. Compares three or more groups
(F test) variance by ranks
Two way analysis of variance Friedman Two.way analysis of | Compares groups classified by
variance two different factors

To choose the right statistical test, visit this Statistical test selection guide.

August 12, 2017 17 / 24

4. Statistical assumptions


https://docs.google.com/forms/d/e/1FAIpQLSdNj7KELR6emqKWpt0p7MgFgS0VonjWjo3NTEzhk9rBDvspPQ/viewform

A4

“KEEF YOUR, EYE ON THAT QLY. TOM. HES NOT, YOU KNOW...NORMAL!M™

4. Statistical assumptions August 12, 2017 18 / 24



Outline

@ Statistical assumptions

@ A single population (no outliers)
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A single population

Tests assume that the observed data come from a single population. Outliers

seem to come from a different population.

5:

a;

OUTLIER?

w

FREQUENCY

0
70 75 8.0 85 9.0 95 10.0 10.5 11.0 1.5 12.012.5 13.0 13.5 14.0 145 15.0
X MIDPOINT

It
It is an outlier if it comes from

o Invalid data (transposed digits,
shifted decimal point, sensor
blackout, ...)

@ Experimental mistake (bad

pipetting, a voltage spike, a hole in
a filter)

10000
8000
6000
4000
2000 e

Uy
1.&:5&’3
.

20 10 60 80 100

is not an outlier if it comes from

@ Random chance (just by chance
some values are larger/smaller than

rest)

Biological diversity (the population
is really variable)

Invalid assumption (I assume it is
normal, but it is log-normal)
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s it legitimate to remove outliers?

@ Removing data because it does not fit our “expectations” is cheating.

@ Leaving outliers may lead to invalid results, it is another way of “cheating”.

@ |t is not cheating when the decision to remove an outlier is based on rules
and methods established before the data was collected.

Alternatively, use robust statistics
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Common mistakes with outliers

Not realizing that the data is log-normal, instead of normal.

Using a test designed to detect a single outlier when there are several outliers.
Applying multiple times a test to detect a single outlier does a poor job.

Eliminating outliers only when you don't get the results you want

Truly eliminating outliers from your notebook.
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Outliers
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Outline

@ Statistical assumptions
@ Small number of tests
@ Gaussian distribution
@ A single population (no outliers)
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© Statistical tests
o Comparing proportions between two groups
o Comparing proportions to a theory
@ Case-control (retrospective) studies
o Comparing survival curves
o Comparing two independent means
o Comparing two paired means
o Calculating correlation
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© Statistical tests
o Comparing proportions between two groups
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Comparing two proportions

EMBOLISM

A research group tested whether apixaban 2.5 mg, twice a
day reduced the recurrence of thromboembolism. They
randomly assigned 1669 patients to a placebo or treatment
and checked the number of thromboembolisms after 1 year.
The results were (contigency table)

Recurrence | No recurrence | Total
Placebo 73 756 829
Treatment 14 826 840
Total 87 1582 1669

Fisher's exact test showed that the proportion of recurrence
in both groups was different with a p-value<0.0001. This
p-value answers the question: if the null hypothesis were true
(Ho : papixaban = Hpiacebo, apixaban does not have any effect
on the thromboembolism recurrence), what is the probability
of observing 14 or less recurrences out of 840 patients?

Fisher's exact test with large samples is difficult to calculate

and can be approximated by a \? test.
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Comparing two proportions

The 95% confidence intervals for the proportion of recurrence
in each group were

o Placebo: p=73/829=8.8%, 95% CI=[7.0,10.9]
o Treatment: p=14/840=1.7%, 95% Cl=[0.9,2.8]

LS The difference between 8.8 and 1.7 (=7.1%) is called the
1 i attributable risk.

The relative risk is the ratio between the two,
RR=1.7/8.8=0.19 (95% CI=[0.11,0.33]). This means that
the treatment reduces the risk of recurrence by a factor
between 0.11 and 0.33.

Secondary results:

@ This reduction was similar by age and sex.

@ Patients receiving the treatment did not have more
bleeding than those with the placebo.
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@ Random sample: The sample is representative of the whole population. The
subjects in the study were not randomly selected (they may come from the
same hospital), but they were randomly assigned to receive the drug or
placebo.

@ Independent observations: Selecting one member of the population should
not change the chance of selecting anyone else, and the results of one person
is not correlated to the result of any other person in the study. This is
violated if the study included several members of the same family.

o No difference between the two groups except treatment: The researchers had
to show that there was no significant difference in terms of age, weight, sex,
kidney function, etc.
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Comparing two proportions

Snapshots

vening News "‘

D loye AAR7
"Of students surveyed, 64% prefer English and
32% prefer math. The fact that these numbers
do not add up to 100 may help explain why."
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© Statistical tests

o Comparing proportions to a theory
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Comparing proportions to theoretical values

Mendel studied the shape and color of peas.

pure breeding
round, yellow
e A8 AR 2R J
RRYY RrYY RRYyY RrYy
® —
Round, yellow p) o5
" .. 00| 9|08
pollination rRevy | revy | revy | oervy
®—
Pure breeding
it oy 00 0|0
seeds rRRYy | rrvy | rRyy | Rryy
$—0
iz IRARAE 2K
RrYy reYy Rryy rryy
Parents (P)  Parental gametes First generation (F) 9Yellow, round 3 Yellow, wrinkled

Second generation (Fz)

In an experiment with 556 peas, these are the observed and the expected results

Phenotype # Observed | Expected proportion | # Expected
Round and yellow 315 9/16 312.75
Round and green 108 3/16 104.25

Wrinkle and yellow 101 3/16 104.25
Wrinkle and green 32 1/16 34.75

Does the observed data contradict our theory?
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Comparing proportions to theoretical values

The correct way of analyzing a multinomial distribution (9/16,3/16,3/16,1/16) is
by the exact test of goodness-of-fit. Its mathematics are relatively complicated
and if the number of samples is large enough it can be approximated by 2 test of
goodness-of-fit.

X =% (O ; Ei)?

; i
i

The number of degrees of freedom is N — 1 where N is the number of categories
(in the peas example N = 4). In the example X2 = 0.470 and the p-value is 0.93,
so the observed data does not contradict our theory.

For N = 2, the exact test of goodness-of-fit becomes the binomial test.
Common mistakes

e Mixing the two approximations by x2. It is not the same comparing two
groups than comparing one group to theory.

@ Constructing observed values that are real counts but “normalized” counts
(normalized to 1, 100 or 1000).

5. Statistical tests August 15, 2017 10 / 56



Comparing proportions to theoretical values

e i E?}i:l rfé@’i}ﬁ

V)

" can't understand why the whole
audience hated my Simpson's
Paradox joke. | tried it on the
men and the women in the crowd
separately and each group loved it
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© Statistical tests

@ Case-control (retrospective) studies
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Case-control studies

Some researchers investigated whether cholera was effective.

@ Prospective approach: 1) Recruit unvaccinated people. 2)
Randomly assign them to be vaccinated or not. 3) Follow both
groups for many years to compare the incidence of cholera. But
this study would require many years and would withhold the
vaccine from many people.

@ Retrospective approach (case-control): Pick cases and controls

and annotate whether they had been vaccinated or not.
The results of a case-control study on cholera vaccination were

Cases (cholera) | Controls
Vaccinated 10 94
Unvaccinated 33 78
Total 43 172

Fisher's exact test is still applicable. The null hypothesis is that the variables
Vaccination and Disease state are independent. The corresponding (two-sided)
p-value was 0.0003. The two-sided implies that we don't know whether cholera
incidence will be higher or lower in the vaccinated group.
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Case-control studies

Note that the number of controls is chosen by the researchers, so it does not
make sense to calculate the relative risk (analysis by rows) as we did with the
prospective study on apixaban.

Cases (cholera) | Controls
Vaccinated 16 o4
Unvaccinated 33 3
Total 43 172

5. Statistical tests

10/(10+94)%9.6%
33/(33+78)£29.7%

RR=9.6/29.7=0.323
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Case-control studies

Instead we must calculate the odds ratio (analysis by columns)

Cases (cholera) | Controls
Vaccinated 1 9
Unvaccinated 3 7
Total 4 172
10/33:6.303 94/78=’l.205

> OR=0.303/1.205=0.251

Meaning that vaccinated people are 25% as likely to get cholera as unvaccinated
people. The 95% Cl for the Odds Ratio is [0.12,0.54].

The effectiveness of the vaccine is 1 — OR =1 — 0.251 = 74.9%, and its 95% ClI
is calculated by subtracting the 95% Cl of the OR from 1, that is,
[1—0.54,1— 0.12] = [46%, 88%].
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Problems of Case-control studies

In the cholera example, the researchers picked the controls visiting homes near the
area of the patient, but ...

@ Controls were picked because they were of the same gender and age as the
subject. They could not determine if the vaccine was more or less effective
depending on the gender and age.

@ Patients knew they had cholera and may remember their vaccination more
vividly than controls.

@ Interviewers knew who had cholera and who did not. They may inadvertently
pose the questions differently leading to different responses on vaccination.

@ Patients may want to help researchers, while controls just want to finish the
interview.

@ Patients were chosen because they attended to the Cholera Treatment
Center. Patients with mild symptoms did not seek medical attention.

@ Controls were at home when the interviewer came. So the study was biased
towards people who stay at home a lot.
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Validation of Case-control studies

In the cholera example, the researchers performed a second case-control study to
validate the cholera study.

@ They tested if there was an association between cholera vaccination and
other patients with bloody diarrhea not caused by cholera.

@ Controls were chosen in the same way as in the 1st cholera study, so they
shared the same biases.

@ The OR was 0.64 (95% Cl=[0.34,1.18]).

Because of these problems it is recommended to be skeptical of OR between 0.33
and 3, even between 0.25 and 4. Case-control studies can be trusted if they can
be repeated and make sense biologically.
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Common mistakes

o Confusing relative risk with odds ratio. The relationship is

OR

RR= —
(1= po) + poOR

being po the prevalence of the disease (the fraction of the control group that
has the disease).

@ Entering normalized data instead of the actual counts of observed events.

@ Trying to compute an OR when one of the four values is 0.

5. Statistical tests August 15, 2017 18 / 56



Case-control studies

“Let's see..number of cheeseburgers eaten in
a typical month? three...no, I'll put down four.”
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Outline

© Statistical tests

o Comparing survival curves
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Survival data

Some researchers are comparing the survival time with two different treatments.

The study spans 4 years.

Figure 1. Confirmatory overall survival analysis

Time (months)

ClI = confidence interval; D = docetaxel; H = trastuzumab; HR = hazard ratio;
Pla = placebo; Ptz = pertuzumab

1 year
100 94% 2
years

60 89% 81%
g
3 60 HR = 0.66
£ (95% ClI: 0.52-0.84)
= p =0.0008
S 40
v
>
o

20 == Ptz+H+D: 113 events; median not reached

== Pla+H+D: 154 events; median 37.6 months
0 T T T T T T T T T T T
0 5 10 15 20 25 30 35 40 45 50 55
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Assumptions of Survival Analysis

Random (or representative) sample.
Independent subjects.

Consistent entry criteria.

Consistent definition of the end point.
Clear definition of the starting point.

Time of censoring is unrelated to survival.

Average survival does not change during study.
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Assumptions of Survival Analysis

When comparing two survival curves, additionally

@ Treatment groups are defined before data collection began. It is not valid to
take a single group of patients, all equally treated, and split them in two
subgroups depending on whether they response.

@ Groups are defined consistently as data are accrued. If the study spans
several years, the diagnostic groups must be defined consistently. For
instance, we are comparing the survival of cancer patients with and without
metastases. During the study a new scanner is acquired that is able of
detecting metastases much earlier, so these patients are moved to the
metastase group. The survival of the non-metastasic group improves,
because the patients with small metastases are moved to the other group.
But, the survival time of the metastase group also improves, because the new
patients have much smaller metastases than they used to have with the old
scanner. (Will Rogers phenomenon: “When the Okies left Oklahoma and
moved to California, they raised the average intelligence in both states”.)
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Assumptions of Survival Analysis

When comparing two survival curves, additionally
@ Proportional hazards. Hazard is the slope of the survival curve. The hazard
ratio compares the hazard of both treatments, most tests assume that this
ratio is constant over time and differences are simply due to random
sampling. This assumption is violated when hazard changes over time. For
instance, comparing surgery (high initial risk, lower later risk) with medical
therapy (less initial risk, higher later risk).

Non-Proportional

Proportional
Early Late
Here, the effect is the same in Here, the effect is negative in
both time periods the early period and positive
in the late period
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Survival Analysis

100 -

75 -

50+
45

Patients Surviving (%)

25

10-Year
survival

rate

Hazard Ratio for death in treatment group,
0.38 (95% Cl, 0.28 - 0.53); p<0.0001

Each downward step in the lines represents an event
(outcome of interest, e.g. death) experienced by a patientin

/ that corresponding group

each small vertical tick represents a censored observation (ie.
patientwho did not experience the event of interest by the
last follow-up, this can be due tolost to follow-up, study
period ends without having an eventor died froman
unrelated cause)

| Survival

906 546 3650 =Ho-year
2000 4000
Time (in days)

T
6000

Placebo
Treatment

No. at Risk Numberof patients at risk shown below atregular time intervals, as times go,
less people remain are atrisk

106
105

20 5 0
62 25 2

5. Statistical tests

If the proportional hazard
assumption is accepted, you may
use a Hazard Ratio analysis
(related to Cox model). In this
example the death hazard in one
of the groups is 0.38 lower than
in the other group. The log-rank
method or Mantel-Cox method)
calculates a p-value under this
assumption

If the hazard is constant over
time, then we may also use the
Ratio of median survival times
(RMST, related to an
exponential decay). In this
example, RMST = 28 — 0.41.

2206
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Survival Analysis
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Why Survival Analysis?

Is it not simpler to compare the mean or median survival times or five-year
survival?
@ Mean survival time: Cons:
o It does not consider people that have not died or has been censored during the
experiment.
e The survival time is not Gaussian so you cannot construct useful confidence
intervals.
@ Median survival time or 5-year survival: They solve the problem of not all
subjects dying. Cons:
o They loose the information richness of the full survival curve. For instance,
these treatments have similar median and survival at 9 months, but very
different behavior after 9 months.

Cumulative probability
o
o

0 3 6 8 12 15 18 21
Survival time {months)
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Intention to treat

Imagine a study that randomly assigns patients with severe angina to surgery or
medical treatment. But some of the patients assigned to surgery die before being
operated. Should we remove them from the analysis since they did not get the
treatment? No. If we remove them from this group, we would be removing early
deaths from one group (surgery), but not the other (medical treatment), and this
would bias the results.

The Intention-to-Treat approach can be summarized as “analyze as randomized”
even if

o Later the patient does not meet the entry criteria.
@ The treatment was not given.
@ They stopped the treatment for any reason.

We may also analyze the data with the intention-to-treat approach or removing
the data from samples that did not receive the fully assigned treatment. If there is
not a significant difference, we know that the dropouts did not affect the analysis.
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Survival data

‘I’m noi going lo your mother’s
for Christmas until I know the
death and survival rates’
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© Statistical tests

o Comparing two independent means
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Comparing two independent means

Some researchers are comparing a signal between two independent groups: male
and female. In the example below, we see that they did not find a significant
difference between both groups because the Cl of the difference includes 0.0.

95% Cl of Difference

-31.1810 9.582
p= 0.2613 no
—
100+ 80
Mean + SD
804 [ ] 60
= 604 LA d =
g i ._ g 40
2 w{®® .. ®
x] ® 20
L] L o
® o ® 3
& & L

The fact that the mean+SD overlap is not enough for not being significantly
different.
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Comparing two independent means

The Cl is constructed as

[d —ti—g dfSd,d + tl—%,dfsd]

where
d = X1 — X2
2 2 2 1 = \2
_ n151+n252 s — 2 : x1j — X1
Sd - ni+ny—2 1 n—1 - ( ! )
2 2\2 2 1 =.)\2
1.2 = P —
(E*E) %2 mo1 (e = %)
df = '

(2/m)2 (2/m)?
1 + 2
n—1 np—1

If we assume equal variances in both groups, the number of degrees of freedom
simplifies to (this test is more powerful than the one with unequal variances)

df:n1+n2—2

The Cl is depends on
@ Variability: The higher the scatter, the larger the CI.
@ Sample size: The larger the sample size, the smaller the Cl.
o Confidence: The larger the confidence, the larger the Cl.
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Comparing two independent means

The null hypothesis is that both data sets have been drawn from populations with
the same mean. The p-value answers the question:

If the null hypothesis were true, what is the chance of randomly observing a
difference as large or larger than that observed in this experiment?

The p-value depends on the variability, sample size and mean difference.
Assumptions:

Random (or representative) data.
Independent observations.
Accurate data.

Populations with Gaussian distributions.

Equal standard deviation of the two populations.
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Assumption on the same variance

It can be verified through another test for equal variance (F ratio or Snedecor’s
F). If it fails, we can
@ Ignore the result. The t test is fairly robust to violations of this assumption
as long as the sample size is large enough and equal in both groups.
@ Emphasize that the two distributions are different, since at least the variance
is different (its mean may or may not be different).
@ Transform the data to reduce the variance (problem: data snooping).

@ Running the unequal variance t test (Welch) or non-parametric
(Mann-Whitney) (both are less powerful).
o After checking that the variances are different (problem: data snooping).
e Systematically.
e Depending on some prior knowledge on the kind of experiment.
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Common mistakes

o If the result is almost statistically significant, collect more data to increase
the sample size and then recalculate the t test. Problem: multiple testing,
and stopping when the difference becomes significant.

o If the experiment has three or more treatment groups, use the unpaired t test
to compare two groups at a time. Use ANOVA and post-hoc analysis, instead.

o If the experiment has three or more treatment groups, compare the largest
with the smallest means. Problem: data snooping, the decision of largest and
smallest are taken looking at the data.

o If the p-value is larger than 0.05, try other tests to see whether they give a
lower p-value. Problem: multiple testing.
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Comparing two groups

Sorrg,Firk‘m, But I believe
scientific method only <alls
for one of these groups.

CONTROL GUT-OF-CONTHOL
GROUP

NEW Losse Parts beok, new at LoesePartsCemic.com!
@it Dave Blazed - sosspirtadresrizonnet - DHI.NH-DMM Pmuﬂnam i
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Outline

© Statistical tests

o Comparing two paired means
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Comparing two paired means

A variable is measured in each subject before and after an intervention.
The left and right eyes of a person are treated with different eye drops.
Subjects are recruited in pairs matched for age, postal code, or diagnosis.
Twins or siblings are recruited as pairs.

Each run in a laboratory has a control and treated preparation handled in
parallel.

This data should be analyzed with paired t test or the non-parametric
Mann-Whitney if the data is continuous, or McNemar's test if the data is binary.

a ndependent samples b Paired samples C Sample of paired differences
X v X Y D sp S5
12

11 4

60 boo
<X

- N

A
iocd 8
[
- o

ood
o
!

Expression

Expression
1

Change in

expression
o

-
o o
' L

©0
I
L

o

The better control of other variables (genotype/phenotype, individual,
environmental conditions, ...) helps to reduce the variance. They key is reducing
each data from each pair to a single variable (difference estimate).
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Comparing two paired means

The Cl is constructed on the difference and it depends on the usual suspects
(variability, sample size and confidence). If it includes 0, then the two groups are
not significantly different. For instance Darwin measured the growth of 15 seeds
of plants when they were cross-fertilized and self-fertilized. The difference in
growth was 2.62 inches (the average height was 17.6 inches, ~15%). The 95% ClI
was [0.0037,5.230]. The result was significant (it does not include 0), but with
very little margin.

The null hypothesis is that there is no difference in the two groups. The p-value
answers the question if the null hypothesis were true, which would be the
probability of observing a difference as large or larger than the one observed in this
experiment. The p-value depends on the variability, sample size and mean
difference. For Darwin's experiment, the p-value was 0.0497.
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Comparing two paired means

How effective was the pairing?
You do the paired analysis because you expect that there is a strong correlation

(positive) between the measurements in the two groups. To check this end, you
may

@ Estimate the correlation coefficient, its Cl and the p-value of the one-sided
null hypothesis of no correlation.
For Darwin's data (r = —0.3348, it is rare that both variables are negatively
correlated), the one-sided p-value 0.1113 (not significant).

@ Check the p-value if the data is analyzed unpaired.
For Darwin's data, the p-value was 0.02

Assumptions
@ Random (representative) samples.
@ Pairs are independent of other pairs.

@ The difference between matched values follow a Gaussian distribution.
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Logarithmic transformations

Some variables may need to be transformed before being analyzed. For instance,
enzymatic activity before and after a treatment with a drug has a multiplicative
model. This can be easily seen in the plot below, after log-transforming the paired

lines are “more parallel”.
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Paired binary variables (McNemar's test)

Examples

o Case-control studies where each case has a matching control (matched on
age, gender, race, ...)

@ Twins studies
@ Before-after data, the outcome is absence or presence of some characteristic.

We want to know if a drug helps to reduce the prevalence of a symptom (e.g.
running nose with a cold). For a number of people we measure the effect of the
drug before and after treatment.

After: present | After: absent
Before: present A B
After: absent C D

Measures are correlated because they are taken from the same subject. This is not
a standard contigency table where counts in each cell are independent.
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Common mistakes

@ If the result is almost statistically significant, collect more data to increase
the sample size and then recalculate the t test. Problem: multiple testing,
and stopping when the difference becomes significant.

o If the experiment has three or more treatment groups, use the unpaired t test
to compare two groups at a time. Use repeated measures ANOVA and
post-hoc analysis, instead.

o Not log-transforming the data if it makes sense in this experiment
(multiplicative model).

@ Analyzing the absolute value of the differences instead of the differences.

@ Deciding on the pairing only after seeing the data.
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Comparing two paired means

(A PAIRED COMPARISON EXPERIMENT 15 ONE OF THE MOST EFFECTIVE WAYS TO )
REDUCE NATURAL VARIABILITY WHILE COMPARING TREATMENTS. FOR EXAMPLE, IN
COMPARING HAND CREAMS, THE TWO BRANDS ARE RANDOMLY ASSIGNED TO

EACH SUBJECT’S RIGHT OR LEFT HANDS. THIS ELIMINATES VARIABILITY PUE TO
SKIN DIFFERENCES.

A B
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Outline

© Statistical tests

o Calculating correlation
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Calculating correlation

+  Correlation coefficient: How much of Y can | explain given X?

Pearson’s correlation coefficient: for continuous variables.

Kendall’s rank correlation coefficient

Spearman’s rank correlation coefficient

Coefficient of determination (R2): when a model is available

«  Multiple correlation coefficient: How much of Y can | explain
given X, and X,?

- Partial correlation coefficient: How much of Y can | explain given
X, once | remove the variability of Y due to X,?

« Part correlation coefficient: How much of Y can | explain given
X; once | remove the variability of X, due to X,?
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Calculating correlation

Pitfall: Correlation means causation

\ 28 = 5 ?- o

PurchaseWarm Clothes { ————  Purchase Ice Creams T

Correct: Correlation means linear covariation
PurchaseWarm Clothes | +———  Purchase Ice Creams T
£=0.90
Salary t= Freelime L

There is a lot of a priori information!!
Edueation = Salary T
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Calculating correlation

Pitfall: Correlation measures all possible associations

1.0 0.8 04 0.0 0.4
F ¥ % %
1.0 1.0 1.0 0.0 1.0

Correct: Correlation measures only linear associations

0.0

O

1.0

0.0
-
% W

To measure non-linear associations the coefficient of determination is used (R?)
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Calculating correlation

Pitfall: Correlation summarizes well the relationship between two variables

. y=175
- R SO s =4.12
- e 3 =3+0.5x
r=0.81

Correct: Visual inspection of the data structure is always needed
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Calculating correlation

Is there any relationship between education and salary?

Person | Education Salary § Pitfall: Compute the correlation between a
A 3 (High) 70K categorical/ordinal variable and an interval variable.
B 3 (High) 60K Correct:
c 2 (Medium) 40K * Use ANOVA and the coefficient of determination
D 1 (Low) 20K » Use Kendall or Spearman’s rank correlation coefficient

(valid only for ordinal, not categorical, variables)

Is there any relationship between education and salary?

Person |  Education Salary Pitfall: Compute the correlation between a two ordinal
A 3 (High) 3 (High) variables.
B 3 (High) 3 (High) Correct:
c 2 (Medium) | 2 Medum) | Use Kendall or Spearman’s rank correlation coefficient
D 1 (Low) 1 (Low)
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Calculating correlation

Pitfall: Correlation between combinations with common variables

Village #Women #Babies #Storks #Babies/#Women #Storks/#Women
VillageA

VillageB ... Psabiesperioman storkpervoman. = 0-0311 (p < 0.00001)

VillageC
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Calculating correlation

Pitfall: Correlation is invariant to changes in mean and variance

Three nurses take blood pressure from the same pool of patients:

* Nurse 1 takes the true value with some variance.

+» Nurse 2 takes consistently larger values with the same variance as nurse 1.

* Nurse 3 takes consistently smaller values with much less variance than the other 2.

Measured Blood Pressure

22

20

x X A
Nursel iy g
T L0
Nurse2 x +
Nurse3

]:Vrtf'sel.Nw'sg) = 095
I:Vm'sel.]\fursej = 097
=0.97

T

All correlations are rather high
(meaning high agreement)
although the data is quite different

]Nm'sel.Nursei

0 12 14 16 18 20
True Blood Pressure

5. Statistical tests August 15, 2017

22




Calculating correlation

Solution: Assess agreement through bias, scale difference and accuracy
E{(X, - X,)'} = (1, - )’ + (0,0, +2(1- p)o,o,

E{(X1_X2)2} (#1—/12)2 +((71_O-1)2

= +1-p)
20,0, 20,0, 20,0,
Normalized bias  Normalized — Accuracy 22 -
scale o o o
difference ] 20p Nursel xx;"‘
2 18 Nurse2 ® . +
2 o3 o
Nursel vs. Nurse2 1.01 le-5 0.05 £ Nusse
Nursel vs. Nurse3 051 Te-4 003 3'°
Nurse2 vs. Nurse3 3.05 4e-4 0.03 214
2
5
Now we have separated the three different effects 8 12
(mean shift, scale shift, correlation) while the =10
correlation alone only accounted for one of them. s

e
8 10 12 14 16 18 20 22
True Blood Pressure

5. Statistical tests August 15, 2017 53 / 56



Calculating correlation

Pitfall: Summarize a regression experiment through correlation

Bivariate sampling: the experimenter does not control the X nor the Y, he only measures both.

Which 1s the relationship between height and weight in a random sample?
The experimenter cannot control any of the two variables

Regression sampling: the experimenter controls X but not Y, he measures Y

Which is the response of blood pressure to a certain drug dosis?
The experimenter decides the dosis to be tested.

2
> Syix
1+ K

Sx
K.s; i i
»Sy.x Depend on the system he is measuring

= g ey

»

Sy The experimenter controls the width of values tested.
By making the range of X large, we can have a
correlation as closed to 1 as desired.
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Calculating correlation

SOMEONE SENT ME
ANOTHER ANONYMOUS
EMATIL WITH A LINK
TO AN ARTICLE ABOUT
THE WORLD'S WORST
BOSSES.

Dilbert.com DilbertCartoonist@gmail.com

1 GET ONE OF THOSE
EMAILS EVERY TIME
I LEAVE YOUR CUBICLE.
DID YOU THINK I
WOULDNT NOTICE THE
CORRELATION?

5. Statistical tests

CORRELATION
DOES NOT IMPLY
CAUSATION.

11-28-11 ©2011 Scott Adams, Inc. /Dist by Universai Ucick
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© Statistical tests
o Comparing proportions between two groups
o Comparing proportions to a theory
@ Case-control (retrospective) studies
o Comparing survival curves
o Comparing two independent means
o Comparing two paired means
o Calculating correlation
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@ Fitting models
@ Regression models
@ Diagnostic tools
@ Multiple regression
o Causation
@ Logistic regression
@ Proportional hazards regression
o ANOVA
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Outline

@ Fitting models
@ Regression models
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Regression models

-

(x,.y,) CarPrice = f(Age)+¢

(x3.y3)
(X4-}’4)

200 Linear regression

Y=a+bX +¢

100

[ O 6 OMDGO0 GO CONEED

Non-linear regression

Logistic function

50

0 50 100 150 200

Fitted value
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3004

200

1004

7.4 Regression as a model

Y- (X, X))+ 2|

CarPrice = f(Age, Mileage)+ ¢

Age (year)
1

(X %50¥)
(%12 X35.¥2)
(%13 %53.53)
(x4 %50.Y4)

Interactions

/—}\ﬁ

Regression surface, varying b1
¥ o= —Oexl + 1wXZ

=010

%o

Interaction regression surface, varying b2
= Qw1 4 1w 2 0,50 1w 2

f(X. X, XX,)+e
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Regression models

Coefficient of determination Multiple correlation coefficient
SSwmI = SSnma'e! + SSm’ror =~ R2
N N _, N 1
s w2 " ) s 5o\
YO =X (H-F) 2 (0 -5)
i=1 i=1 =1
5 SS The coefficient of determination
R =1— error
SS represents the percentage of
foral | “ypexplained” variance

Partial correlation coefficient Oy,

The partial correlation coefficient of Y and X removing the effect of (Z... .,Zp) 1s the
correlation of the residuals of Y after linear multiple regression with (Z,... .,ZP) and the
residuals of X after inear multiple regression with (Z,... ..‘Zp)

What is the correlation between crop yield and temperature? Standard correlation
What is the correlation between crop vield and temperature holding rain fixed? Partial correlation
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Regression models

Multiple regression
Y :f(Xl,Xz,...,XP)JrS

Predictors: Random
continuous, variable with
discrete, known
categorical distribution

Assumptions
1. The sample is representative of your population
. If you are to predict the price of a car of 1970 make sure that your “training
sample” contained cars from that year.
. If you are to predict the price of a car of 1970 with 100.000 miles, make sure
that your “training sample” contained cars from that year and that mileage.
Solution: Make sure that your predictor vector (X, .... Xp) 1s not an
outlier of the “training sample”.

August 20, 2017



Regression models

Assumptions

2.

The dependent variable is noisy, but the predictors are not!!
Solution: If the predictors are noisy, use a scheme like Total Least Squares

Fitted value

LS

F\“Resi(lual

':f(Xl,X_,,...,Xp)ﬁf)- Y= (X +6.X, 46,0, X, +6,)+¢

Zero-mean
Random variable
Systematic errors are not contemplated

Least Sguares Total Least Squares

mmz —f(X,.p))° min ZH(XI, (X, (X, 13))H
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Regression models

Assumptions

3. Predictors are linearly imndependent (1.e., no predictor can be expressed as
a linear combination of the rest), although they can be correlated. If 1t
happens, this 1s called multicollinearity.

PersonHeight = [ (weightPounds,weightKilograms)+ &

Problem:

«  Confidence intervals of the regression coefficients are very wide.
*  Large changes in coefficients when a sample 1s added/deleted.

*  Simply for predicting Y, multicollinearity is not a problem.

Solution:

. Understand the reason and remove it (usually it means, that several
predictors are measuring essentially the same thing).

*  Add more samples (if you have more predictors than observations
vou have multicollinearity for sure).

*  Change your predictors to orthogonal predictors through PCA

6. Fitting models August 20, 2017 9/67



Regression models

Assumptions

4. The errors are homocedastic (i.e., they
have the same error at all predictor
values)
Solution:
+  Transform the data (square root,

log, ...) to dimmuish tlus effects

+  Use Weighted Least Squares

5. The errors are uncorrelated to the
predictors and to itself (i.e.. the
covariance matrix is diagonal).
Solution:
«  Use Generalized Least Squares.

6. The errors follow a normal
distribution.
Solution:
+  Use Generalized Linear Models.

Dependent variable

Dependent variable

f’
08t Hetemscedasncny Wﬁ HM 'uv
MJ
05+ MW \M
el
0.4 '/,MM ]
02, . . . .
0 0.5 1 15 25 3
Independent vaniable
1 - - . T
08 W »wn f"
’ Autocorrelation A W 7
A MW A ]
M/‘T‘ . W
02 . . . .
0 05 1 15 25 3
Independent variable
August 20, 2017
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Regression models

We climb to a couple of towers (one with a height of 30 meters
and another one with 60 meters), let a ball fall 10 times and
measure the time it takes to reach the floor. We know there is an
error 11 our time measurement that 1s assumed to be normal,
with zero mean, and a standard deviation of 0.2s.

Which of the following regression models are valid?

2
hty=a,+at+at” +&
h(t)=a,+aNt+at+af + &

2

h(t)=a, +aNi+at+ar* +¢

tthy=a,+ah+a,h +¢
thy=a, +a,Nh+ah+ah’ +&
t(h)=a, +alx/z+a1h+azh2 +e

6. Fitting models
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R ssion models

We climb to a few towers (with heights of 3, 10, 20, 30, 60 and
100 meters), let a ball fall 15 times and measure the time it takes
to reach the floor. We know there 1s an error in our time
measurement that is assumed to be normal, with zero mean, and
a standard deviation of 0.2s.

t(h)= ao+a,ﬁ+ah+a/7 +e
r(l7)——033+062\/5+002h+0h 1+ R*=09773

t(h)= ao+alﬁ+ah+a

. ; 1(h)=—0.15+0.51h +0h + & R*=0.9772
‘ g t(h)=a, +a,ﬁ+g
3 )
g 8 1) =0+ 0457 + & R*=0.9766
1 gg t(hy= alﬁ +g& +«— This is the true model!!!
% 20 a0 0 e 1m0 t(h)= 0:45\/E+ £ R* =0.9766
Height
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Regression models

Adjusted R: this is a way of reducing overfitting

N-1
2 2
Rogusea =1=(A=R) 77— —
1(h) =—0.33+0.62Jh +0.02h+0h* + &
R =09773 R,..=0.9760
t(h)=-0.15+051h +0h+ e
5 @ Rl =0.9772 Rjdjusred =0.9762
4 8 1t =0+045Jh+ e
o 3 1 2 2
gl 8 7 R*=09766 R’,,..=0.9759
1 E@ | wy=045Vh+ &
 EP—— R*=0.9766 R%,., =0.9762

Height
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Regression models

Can we distinguish between important coefficients and non important coefficients?

Linear regression
1 Ly b B[a, g
I | h, h, k| 4 £
Y=Xp+s | ° = SR | B
e ||

Iy | H‘hN f?N f’.'é a, &y

[} — (X’X)_1 XY +«——— Regression coefficients

N
~ 2 . . .
&0 = Z (Y <l}, Xl>) «——— Unbiased variance of the residuals
N-k5
PPy Qe e . . . . .
. =C (X X) ~ «——— Unbiased variance of the j-th regression coefficient
r

~ A2
ﬁ = ﬂ T ~|«——— Confidence interval for the j-th regression coefficient
J J e Nk 2
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R ssion models

We climb to a few towers (with heights of 5, 10, 20, 30, 60 and
100 meters), let a ball fall 15 times and measure the time it takes
to reach the floor. We know there is an error in our time
measurement that 1s assumed to be normal. with zero mean, and
a standard deviation of 0.2s.

t(h)y=a, +a%\/z +ah+ azh2 +&
t(h)==0.33+0.62h +0.02h+0k* +& R =0.9773
W 1(h) =[~0:96:6:23]+[0.30,0.93h

: g +H{Z006:0:02]) + [Z0.00-6:00)4* + &

Time

am

1%5

0 20 40 60 80 100
Height
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R sion models

= PeCO2
(mmHg)
55

r? = 0.24; p< 0.022 Y =[40,45]+[0.05,0.45]1X

We got a certain regression
line but the true regression
line lies within this region
with a 95% confidence.

25 L} LJ ] L ] L) L)

25 -20 -15 -10 -5 0 5
Base Deficit (mmol /L)

Cntical Care
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Common mistakes

e Fitting smoothed/moving average data.

o Smoothing the data artificially increases the R* and reduces the p-value.
e Smoothing can artificially create trends where there is no relationship.
e Smoothing violates the assumption of data independence.
160 T
185 &

150 +

145 +

140 t t t t t t t t 1
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Common mistakes

@ Extrapolating beyond the data. Models are valid only within the range of
observed X values. Extrapolation beyond this range is at the user’s own risk.

Extrapolation

Men's Age al Firs! Marriage (yr)
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Common mistakes

@ Overinterpreting a small p-value. A small p-value indicates that the model
fits the data better than a constant. However, this is not enough to be a
good model. A linear model (y = a+ bx) of the data in the figure below has
a p-value of 0.000105 (very significant), but R? = 0.003005, that is, the
model does not explain even 0.5% of the observed variance.

6. Fitting models August 20, 2017



?
2109: ALSENENCES AR 77, ?
ST THE WORD ‘SUSTAINABLE® -7,

ALL WORDS, BY VEAR. ., |
SOURCE: GOOGLE NaRANS
0.001%

0.0001% 4

206|: “sUSTAINABLE " OCCURS AN
PVERAGE OF ONCE PER SENTENCE

2036: "STANRBLE " OCIURS

0.00001% -, Y

—

0.000001%

— T —
190 1980 2000 2020 2040 Z060 2080 ZI00 2120
YEAR

240

THE WORD "SUSTAINARLE " IS UNSUSTAINABLE.
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Outline

@ Fitting models

@ Diagnostic tools
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Residual analysis

Residual Plots for %Fat

Normal Probability Plot Versus Fits
LT 10
= .
L 1] : .
] - .
£ 2 5 - : * .t ° .
a -
g o= = 2 L B U . o8 %
& =i o. :- - . g
1 e o 3 .‘. e o .
L]
o1 . 2 - .H‘ .. - *
o1 -5 o 5 10 0 5 30 £l Eh)
Residual Fitted Value
Histogram Versus Order
16
2 o
- 3
R b
s H
o o
£ =
0
e g el e T 1 10 20 30 40 S50 & W 8 W0
Residual ‘Observation Order
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Residual analysis

@ Residuals should follow a Gaussian distribution (there should not be large
outliers).

@ Residuals should not depend on the predicted variable (Y).

@ Residuals should not depend on the predictor variables (X).
If these conditions are not met

@ Revise the data for outliers and very influential points.

@ Revise the model, probably this model cannot explain well the data.
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Influence of points

Influence of a Point (Leverage = 0.065, Studentized Residual = 2.491, Cook's D = 0.166)

We may measure o] //
the influence of . ) /9/

each individual - R

point through 7,/,7/"/:/

different statistics. o

o Leverage. How much x; is an outlier? Between 0 (not an outlier) and 1
(totally outlying).

@ Studentized residual. How much y; is an outlier? In terms of the standard
deviation of the residuals (0O=not an outlier)

@ Cook’s D How much the regression would change if we remove that point?
(0=no change)
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Meaning of R?

Total (TSS)

Explained (ESS)

T

>

¥ =0 P Lo
(This is the regression line)

6. Fitting models

R? is the fraction of the total variance explained by the regression model. It is
between 0 and 1, the larger the better.

¥ is the predicted value of y
given x, using the equation
Y =0+ fx

V¥iisthe actual ohsered value
ofy
Y isthe mean of y.
The distances that R23, ESS and TE2
represent are shown in the diagram
to the 1eft - but remermnber thatthe actual

calculations are squaras of these
distances.

TSS = I (y- 7)?
RSS = I (y- 7)?

ESS = Z(v— 7

August 20, 2017
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Meaning of R?

Fitted Line Plot
Mort = 389.2 - 5.978 Lat

225 I R. 6805
200
1754
T
g 68% of the
1307 variation 1s
due to latitude
125
6 —
100-|
.
30 35 40 P 50
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Nonlinear regression

Diagnostic tools are the same for nonlinear regression

[5]

vV = Vmaxm

iecinic semialdehyde (A and 1) and glyoxylate reductase (C and D) activitics. Kinetic data from a
Each datum represents the mean + SE; where SE is not

cation of
single typical enzyme preparation were hest fit by nonlinear regression analy
shown, it is within the symbol.

il A | B
i K, =083 mM i
i 3
i I. R?=0.998 R = 0.896
=
H H 7 3 3 e
-
a0
& aoit { I, B
aos |
N s ,.’
3 i K
1 g om{®
- = ams ;'
o
| RE = 0,980 oo FI R? = 0,088
™ ——
Y B o 2 mRoew e e
Oy 30 e
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Choosing between models

Choosing the best model is not easy. R? is not enough because models with more
parameters will tend to have lower R? simply by overfitting.

T

X X
Underfitting Just right! overfitting

A solution is to penalize by the number of parameters (p) with respect to the
number of samples (N), the R? is said to be adjusted

R2 = 1— SSresiduals
total 5
R2. — 1 — SSesigua/(N—p) _ 1 _ (I=R)(N-1)
adjusted SStotal/(N—1) N—p-1

There are other penalization schemes: Akaike's Information Criterion, Schwarz's
Bayesian Information Criterion (BIC), Minimum Description Length (MDL),
Mallow's Cp.
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Choosing between models

In their standard forms, many of the expressions for these methods are thought for
nested models (y = a,y = a+ bx,y = a+ bx + cx?,...). But this is not
necessarily so. For nested models we can also use:

o Partial F test
ssreduced _szull

residuals residuals

F _ Pfull — Preduced
- full
residuals

N—prun
e AIC, BIC, MDL
@ Likelihood ratio test
o Wald test
@ Score (Lagrange multiplier) test
For non-nested models we can use:
e AlIC
@ Relative likelihood test

You cannot compare models fitted to different datasets.
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Choosing between models

Common mistakes
@ You cannot compare models fitted to different datasets.
@ You cannot use techniques designed for nested model for non-nested models.

@ You cannot compare models whose predictions are undistinguishable in the
range of X.

Fitting models that do not make scientific sense.

Fitting lots of models and accepting the one that fits best. This is a kind of
multiple testing.
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Regression models

Now I have a model of how confidence and alcohol affect sociability.
How do I know if 1t 1s a valid model?

Validation strategies or Model selection

«K-Fold cross-validation: Train your model with part of your data (9/10), and
use the rest of the data (1/10) to validate. Repeat this procedure 10 times.
«Leave-one-out: Build N different models, each time leave a different
observation out of the training set, and use the new built model to predict it.
Repeat this procedure with all observations.

*Bootstrap: Take a bootstrap sample. Build a model with them. Predict the
values of the observations that were not in the traming set. This estimate 1s
biased but it can be corrected (0.632 correction)

Average the prediction error of each trial.
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Regression models

QUTPUT

DISCLAIMER

INPUT

v

6. Fitting models
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Outline

@ Fitting models

@ Multiple regression
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Multiple regression

We are studying the relationship between several factors and kidney function,
measured through creatining clearance. For women (second column) we have
found

CrCl =99 — 12.64 log Cpy—0.05Age—0.006Age? + 0.92BM/ — 7.56 Therapy

Table 3. Determinants of the Measured Creatinine
Clearance Rate.

RELATION WITH ZINC

VARIABLE* RELATION WITH LEAD PROTOPORPHYRIN
MEN WOMEN MEN WOMEN
(N =965) (N = 1016) (N =965) (N = 1016)
R? 0.27 0.25 0.26 0.25
Intercept 86 9 66 79
Partial regression coefficient
Log lead (ug/liter) —9.51F  —12.64% — —
Log zinc protoporphyrin — — -8.88t  —7.72§
(ug/g of hemoglobin)
Age (yr) 0.71% -0.059 0.439 -0.229
Age squared —0.015  —0.006% -0.012f —0.005%
Body-mass index 1.76% 0.92% 1.72% 0.99%
Log y-glutamy! trans- —6.38t NS NS§ NS¢
peptidase (Urliter)
Diuretic therapy 877t —7.56% —8.48%  —8.04%

*The linear and squared terms of age were tested simultancously for entry into the regression
model. Diuretic therapy was coded as 0 (not taking diuretic agents) or | (currently taking
diuretic agents)

P<0.05. $P<0.001 §P = 0.08 SINS denotes P not significant

Staessen, J.A. et al. New England J. Medicine, 327: 151-156 (1992)
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Multiple regression

@ Diagnostic tools are also valid for multiple regression.
@ Interactions are modeled by new variables merging both variables

BMI
Age - BMI, ——, Age? - BMI, Age® - BMI, ...
Age
The way of analyzing interactions can be tricky, and the fitting assumes that
there is no other form of interaction other than that specified.
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Multiple regression

. Cohen’s effect size f2 = R —
What should the sample size be? 1-R
N N N _ A0 £
‘\ observations = max {50 + 8‘\ predictors > 104 +1 pv‘edicrors} o= O‘Osﬂ ﬂ - 02, f - 0 {15
Medium

Determine minumum effect size for the regression coefficients (£2), the confidence level
(1-a), the statistical power (1-p3) and the number of predictors k.

«  Compute degrees of freedom of denominator df =k +1
«  Compute F__, g With a central F distribution with k and df degrees of freedom
+  Compute the centrality parameter 1= f~(k +df +1)
Rakar
. Compute the current power with a noncentral F (NCF) Power = I f CF (x)dx
kdf 4

0
+  Repeat Steps 2-5 until the power is the desired one, and increase in each iteration the
number of degrees of freedom of the denominator by 1.

Online calculator: http://www danielsoper.com/statcale/calc01.aspx

Other authors defend 10 — 20 observations per predictor.
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Multiple regression

Stepwise forward regression: Add variables one or a group at a time while significant

Start: Constant term only, no
variable terms yet E
— 5
Sufficient? ——e—

E No 2 st I:
o J E
Stage | : test P
Linear terms o
3 ooy~ p

2 T Y Ne I

= No
: e 2
g Cross-product terms .§
Cross-product terms

g No ‘/ E
Stage Il : test "
Univariate 2, 3, 4™ order terms ©

=,
Tecsssary ¥

Stepwise backward regression: Remove variables one at a tune while not significant

Be careful with R? inflation by multiple testing.
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Multiple regression

Be careful with Multicollinearity since it results in ill defined models (wide Cl).
Solution: Partial Least Squares.

Slightly correlated variables

//“\

F.

X1
o e .
X2
X; variance Shared variance  X; variance ase 1 s
X1
Y Y
’ X1
X2
\ X2
Highly correlated variables Case 3 Case 4
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Multiple regression

Some simple forms of multicollinearity can be easily seen in scatterplots.

The Big 5 Stats

o mm omm wm W m s wm

R <4

an am zm am

1

P Rt} o m W@ @ om @ wm wm
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Outline

@ Fitting models

@ Causation
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Regression does not imply causation

Assume we perform an experiment and discover that there is a relationship
between lead concentration in blood and kidney function (measured by creatinine
clearance).

CrCl = 101[{mL/min] — 9.51 log Cpp[pg/L]

Can we assess that lead exposure causes kidney malfunctioning?

No, it could be the opposite. Kidney malfunctioning causes lead raise in blood.

16

1996 2_
ICE CREAM 2 e R0
> E 1997
£ 156
)“\.‘A(‘ w
4 o 15.4
o £ 1998® @ 1999
< > 2 152
‘4 a tcorrelatlonw Sources:
“Wsaiom 2 15{US NHTSA, DOT HS 810 780
')" " ° U.S. Department of Agriculture ZODN
= 148 .
DEJMFI;OELAV;‘E A?:';:Y 200 250 300 350 400 450 500 550
“ Fresh Lemons Imported to USA from Mexico
SUNBURN {Metric Tons)
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Checking for causation

Stepwise forward regression and causality

We want to measure what 1s the relationship between
sociability, self-confidence and alcohol. There are two possible
causal models:

Confidence Aleohol does not affect
i T Sociability sociability by giving higher
Alcohol — i self-confidence.

Aleohol affects sociability by

Alcohol — Confidence — Sociability giving higher self-confidence.

Let us build a regression of sociability (Y) as a function of confidence (X), and
compute the residuals.

The regression of this residuals with alcohol should give nonsignificant coefficients in
the second model and significant coefficients i the first model.
If we have significant coetficients, we reject model 2 but we cannot accept model 1!!!
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Causation

Mf\/“

T e T

"Do you think all these film crews
brought on global warming or did global
warming bring on all these film crews?"




Outline

@ Fitting models

@ Logistic regression
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Logistic regression

We try to predict a binary variable (0 or 1) from other binary or continuous
variables.

Obese = f(Residence, Age, Education, Smoking, Married, Lowlncome)

Residence: binary (O=rural, 1=urban)
Age: continuous (years)

Education: continuous (years)
Smoking: binary (0=No, 1=VYes)
Married: binary (0=No, 1=Yes)
Lowlncome: binary (0=No, 1=VYes)

We will rather predict the probability of obese taking the value 1.
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Logistic regression

Remind the relationship between probability and odds (ratio of the probability of
something happening vs. not happening)

— P s
OR = - logit(p)

We will transform the problem into
ORopese = ORy ORResidence ORAge OREducation ORsmoking ORMarried ORLowincome
Taking logarithms
logit(pobese) = 30 + BResidence Residence + BageAge + Beducation Education + ...

Pobese iS the probability of being obese.
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Logistic regression

We may interpret the f3s in the standard way (if the Cl includes 0, then that term
is not significant) or in terms of OR. Example:

o Residence: BRresidence = 0.3218 = exp(0.3218) = 2.13, that is a person living
in a urban environment has 2.13 times the odds of being obese than someone
living in a rural environment.

o Age: Bage = 0.0086 = exp(0.0086) = 1.02, for every year, there is an odds
ratio increase by a factor 1.02.
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Outline

@ Fitting models

@ Proportional hazards regression
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Proportional hazards (Cox) regression

1.00 Pairwise Comparison
1 ve. 3:0.005
1 ws. 4: <0,0001
2vs. 3:0.05
2vs_ 4:0.0002
075 3vs. 4:0.0002
§
o
1
=]
[
e
o
2 050
Z Lo
(u]
g
z s i el
@ B
0.25
= DE =High; HE = Low  Group 1, HR =1
DE=Low;HE=Low  Group 2, HR =1.71
DE =Low; HE =High  Group 3, HR = 2.63
DE = High; HE = High  Group 4, HR = 3.90
0.00
T T T T T T T
1] 50 100 150 200 20 300

Months from diagnosis




Proportional hazards (Cox) regression

Remember that the hazard is related to the slope of the survival curve
(A(t) = 755(—(:))) The proportional hazards model proposes

A = exp(Bo + Bue HE + Bpe DE)

Taking logarithms
log(\) = fBo + BueHE + Bpe DE
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@ Fitting models

o ANOVA

6. Fitting models August 20, 2017 51 /67



7.3 ANOVA as a model

Factorial approach: factors are varied together

Effeety,, = Wﬁlm ~0.39
Plays — 2,21 4.3.2 1.1.2
Effectyupy = o 1342424050 ) 1 30
Does not play 2.0.1 1.3.2 2.0.0
| | |
442 433 42341
Effect, =221 2004 1o 028 Effeer,, ., = w ~161=-061

4434+2+1+3+2
Effect, 4y =————

-1.61=0.89
6
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7.3 ANOVA as a model

Factornal approach: factors are varied together

ﬂ
A

Cell Mean =1.61
——
Effecty,, =0.39 Plays 2.2.1 \lz/ L1L2 _—
Effecty, sy =039 Doss not play 2.0.1 1.3.2 2.0.0 [
I T T T
4-4-2 433 4-2-3-1
Effect, ., =—0.28 Effect, ; ;=089 Effect, 3 ,, =—0.61 E
Raul 4-3-3
44342 Voo
— =3=1.61+0.39+0.89+0.11

Real Madrid is playing

6. Fitting models

T

Raul likes playing in 4-3-3!!!

Effect,

aul 4-3-3
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7.3 ANOVA as a model
Analysis of Variance: ANOVA

ﬂ Mean=1.61

Effectp,,, =0.39 Plays 2.2.1 @ 2 LL2 -
- 2.0.1 132 2.0.0 H
1 Il

Effectpperiorin =—0-39 Does not play
‘ I I I

442 4-3-3 4-2-3-1 H
[ =]

Effect,_,, =-0.28 Effect,,_,=0.89 Effect,_,_,, =061

Raul 4-3-3 Noise

' ' !
4=1.614+0.39+0.89+0.11+1

T Real Madrid is playing T Raul likes 4-3-3

Vg =H+a+ [+ (af), +&,
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7.3 ANOVA as a model

Analysis of Variance: ANOVA Y =4+ + B, +(af); + 5, ¥
Variance Degrees of freedom
Mean 0 0
Raul effect (treatment) “-0.39,+0.39" 1=a-1 }
Strategy effect (treatment) “-0.28,0.89,-0.61" 2=b-1 % ab-1
Interactions Raul-Strategy “0.11,.. 2=(a-1)(b-1) J
Residual “,.0 12=N-1-(ab-1)=N-ab=ab(r-1)
Total “22143211,2, 17=N-1
2,0,1,2,3,2,2,0,0"

r=number of replicates per cell
N=total number of experiments

a=number of different levels in treatment A
b=number of different levels in treatment B

6. Fitting models
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1.

2.

7.3 ANOVA as a model

Single Measures:
If there are only two treatments is
equivalent to two-sample f-test

If there are more, it is called

between-subject ANOVA

Drug 1

Drug 2

Drug 3

Placebo

Group 1

Group2

Group3

Group4

Assumptions
Homogeneity of variance

1.
2.
3.

Normality

Independence of observations

X, =u+t,+¢,

T Drug effect

Individual score

6. Fitting models

Repeated Measures
1. Ifthere are only two treatments is

equivalent to paired-sample f-test
2. If there are more, it is called

within-subject ANOVA

Drug 1 Drug 2 Drug 3 Placebo
Subj. 1 Subj. 1 Subj. 1 Subj. 1
Subj. 2 Subj. 2 Subj. 2 Subj. 2
Subj. 3 Subj. 3 Subj. 3 Subj. 3

Assumptions
1. Homogeneity of variance
2. Normality
3. Homogeneity of correlation

Xy=u+m +7,+¢;

T Individual effect

August 20, 2017
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7.3.1 What is ANOVA really?

‘ ANOVA is a hypothesis test about means, not about variance!!
l-way ANOVA: X = u+a, +¢,

H :o=a=.=a; There is no effect of
the treatment

H G jla,=a,

2-way ANOVA: X = u+a,+ 0, +(ap), +e,

Hﬂ T =0 == O There 1s no effect of

H i jley = a; the first treatment

H,:p=0=.=/0 There is no effect of
. the second treatment

H i j| B = B;

Hy (), =(abf), =...=(af) There 1s no interaction

H :3i,j,k 1 (ap); # (@B)y

6. Fitting models August 20, 2017
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7.3.1 What is ANOVA really?

How are the tests performed? F-tests

X,Jk =uta + ,6’], +(aﬂ)1j +E,

H=1061

O = 0.39 A ogars =—0.39

B, ,=—028 Py, =089 Loy, =—0.61
(af)Raul.,_, , =—0.05 (af)Raul,, ,=0.11 (af)Raul.,_;_, , =—0.06

(aff)NoRaul.,_, , =0.05 (eaf)NoRaul., , ;=—0.11 (aff)NoRaul,  , ,=0.06

Source SumSquare df MeanSquare F Prob>F
Raul 2.7222 1 2.7222 3.2667 0.0958 Fiu
Strategy 7.4444 2 3.7222 4.4667 0.0355 Fyp, —» Significant at a
Interaction 0.1111 2 0.0556 0.0€67 0.9359 212 confidence
— Error 10.0000 12 0.8333 lev: /.
evel of 95%
Allsolcalled Total 20.2778 /
within- MSE: This value gives an Ss MS.
groups p . T MS =220 o2
idea of the goodness-of-fit Mo; = -
a, MS,,,,

6. Fitting models August 20, 2017
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ANOVA

7.3.1 What is ANOVA really?

How are the different terms computed?
Xy =Htra+0 +(af), +&,

The sum of squares 1s computed using the mformation explained by the elements involved

I J K

SS Total S torai Z Yo — /Af)z
=1 j=1 k=1
1
SS explained by variable a SS, =JK Z(}f —a)
)
J
SS explained by variable p 8S,=IKY (X, - i)’
I=)
IJ R
SS explained by interaction aff 88, =K> > (%, —(s+a,+B))
il j-1
I J K o . AP
SS Residuals SS, =2 3 > (X, —(a+a +f,+ap,))
PR )
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ANOVA

7.3.1 What is ANOVA really?

Index of effect size: “Coefficient of determination”

i 5S .S . Ss,
" oo ]7,8 = n,=——
ap
SSfom[ SSromI SSFOM]
Source SumSquare df MeanSquare F Prob>F
Raul 2.7222 1 2.7222 3.2667 0.0958
Strategy 7.4444 2 3.7222 4.40607 0.0355
Interaction 0.1111 2 0.0556 0.0667 0.9359
Error 10.0000 12 0.8333
Total 20.27178 17
g S 27222
Raul — - -
SS,.,  20.2778
SS ey 7.4444 - -
J;j,mg}, —_Smetew _ "~ — (.37 — This is the only one coming
S8 orar 20.2778 from a significant (95%) eftect
2 SS:‘nremcn‘un _ 0.1111 —=0.01

1, inferaction SS

* total

202778

6. Fitting models August 20, 2017 60 / 67



ANOVA

7.3.2 What is ANCOVA?

Analysis of Covarlance=Regression tANOVA

Situation: We want to study the effect of vocabulary level in crossword solving
performance. We form three groups of 10 people according to their
vocabulary level (High, Medium, Low). The ANOVA summary table 1s as

follows.

Source SumSquare df MeanSquare F Prob>F
Vocabulary 50.00 2 25.00 lSLQJ,rw<§.6e—§/ P;y
Error 50.00 27 .85 > T

Total 100.00 29 I

the crossword performance. That is, part of the variability is explained by a
covariate (the age) that we can measure but not‘.‘coutrol. Then. we try to
explain (through linear regression) part of the gerformance.

/
Source SumSquare df MeanSquared F

Age 20.00 1 20.00 [/ 17.3
Vocabulary 50.00 2 25.00 / 21.7
Error 30.00 26 (1 15‘5
Total 100.00 29 ’—’




ANOVA

7.3.3 How do | use them with pretest-posttest designs?

Situation: We want to s‘[udy the effect of a S New treatment P
new treatment on patients. We use a &% %
pretest to evaluate the state of the patient
and a posttest to evaluate the
mmprovement. We want to use a control //f}%\ " Standard treatment /,%/?57
group (which may not be different from - ‘ . )
the treatment group) so that the results
can be generalized to the population Standard | New

Option A: Repeated measurements ANOVA Pretest | Subj. 1 | SebiA
ka = i+ Person, +Tremmenrj + Time, + Sy Subj. 2 Subj. B
Subj. 3 Subj. C

‘Xv = PostTest, — PreTest, = i1+ Person, + Treatment, + &,

Posttest Subj. 1 Subj. A
Subj. 2 Subj. B
Subj. 3 Subj. C

These two models are equivalent. The
latter is called Gain Scores ANOVA.

Option B: Repeated measurements ANCOVA

More powerful

‘ X, = PostTest, — Prelest, = yu+a- Prelest, + Person, + Treatment, + &, ‘ analysis!!
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7.3.4 What are planned and post-hoc contrasts?

What is a contrast?
Situation: We want to diversify our investments in 4 different types of business:
stocks, housing. fixed rate funds, and variable rate funds. We measure the

mterest i each of these businesses, and build a linear model

Rate = HE O etmen T €
We have the hypothesis that investing half of the money in stocks and housing,

gives the same interest rate than investing in funds.
a fixedFunds + Dy ariableFunds -0

H. - asrocks + ahausing
0 -
2 2
In general a contrast is:
Hyic,a, +cyoy teeoe tepay =0  Ho{ca)=0
c,teygte.tcp =0 <c,1>:0
Two contrasts are orthogonal iff <c 1-C; > =0
HO . a:tock; - ahausmg - aﬁredﬁmds - avar‘mblz}"tmd': -0 is orthogonal to the
2 2 previous contrast




ANOVA

7.3.4 What are planned and post-hoc contrasts?

Does this relate somehow to ANOVA?

Of course!! ANOVA hypothesis is that there is no effect
H,:x

stocks ahousing - aﬁredFunn’s - avarmb]cFmid:

If 1t 1s rejected, at least one of them 1s different from another one, but I don’t
know which pair!

4
I have to run post-hoc tests to detect which is the different pair. There are ( =6
pairs, and I have to test all of them 2

Pairwise comparisons L Any contrast: H leal=0
« Fisher’s LSD e =a, « Scheffé Test ° ( ’ >
» Tukey’s HSD H:e za; + Brown-Forsyth test  H : <C, (l) =0

* Dunnett’s Test
» Student-Neuman-Keuls test
* REGQW test
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7.3.5 What are fixed-effects and random-effects?

Fixed effects: The experunenter controls the treatments applied to each mdividual

Situation: We want to compare the effect of 4 different drugs with respect to a
placebo.

Improvement = u+a,,, +&
Random effects: The experimenter controls the treatments applied to each individual

Situation: We want to compare the effect of 4 different drugs with respect to a
placebo. taking mto account the stress that the patient has at work

Improvement = p1+ e + Bovess + (@) drug siress T

Fixed Random Random Mixed models
effect effect effect

They have their own
probability distribution
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7.3.6 When should | us
(MANOVA)?

What 1s MANOVA?

Ablllty =n + amthext + ﬁph_\'sicsText + Yco]lege +é&

I . abilityMath
Ability =

abilityPhysics

Hy 0t = O piirens
H 0" i physicsTextd — B physicsTextB

H: Y cottegea = ¥ collegeB

When should T use MANOVA?

e Multivariate ANOVA

Math Text A Math Text B
Physics Text A (9,9) (7,9) (7,7) (4,5)
College A (10,6) (6,7) (10,10) (9,9)
Physics Text A (3,1) (5,5) (6,7)(8,7)
College B (5.5) (5.5) (8,8)(9,8)
Physics Text B (2,8) (9,10) (9,6) (5.4)
College A (10,10) (6,9) (1,3)(8,8)
Physics Text B (10,8) (7,5) (6,6) (7.,7)
College B (5,5) (6,5) (8,3)(9,7)

MANOVA 1s a very powerful technique but 1t 1s even more “omnibus” than ANOVA. If you
expect correlation among the two dependent variables (ability in math, and ability in physics),

then use MANOVA. If they are clearly independent, use two separate ANOV As.

6. Fitting models
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@ Fitting models
@ Regression models
@ Diagnostic tools
@ Multiple regression
o Causation
@ Logistic regression
@ Proportional hazards regression
o ANOVA
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Outline

@ Introduction to sample size calculations
@ Why this course?

Basics of statistical inference

Sample size determination

Thoughts on variance

Guidelines

Further reading

Summary
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Sample size
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Outline

@ Introduction to sample size calculations
@ Why this course?
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Why this course?

rough strain | smooth strain | heat-killed rough strain &
{nonvirulent) {virulent) smooth strain | heat-killed
smooth strain
*i;"% ® %y
¥ e

b

mouse lives | mouse dies | mouse lives | mouse dies

(j « g‘“’&o
e i
EN

How many mice do | need to put in each group to show that a new vaccine is
effective?

@ Too few is a waste of time (=money) and money, it is unethical

@ Too many is a waste of time (=money) and money, it is unethical

@ | need just enough
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Why this course?

4000 T T T T T T T T T
Cost of incorrect decision
3500 F Sarnpling cost H
Total cost
3000
2500
&
& 2000
o
5]

1500

1000

500

0 10 20 30 40 50 =in] 70 80 90 100
Sample size
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Why this course?

Unfounded fear ..&¢

* Fear: A statistical design of the experiment will
require “thousands” of mice.

* Reality: A statistical design of the experiment
relates

Significance @
e size calculations

September 15, 2016



Why this course?

How many mice do | need for my
experiment?

It depends on:
— Experimental constraints (How the data is collected)

* | need a minimum amount of material

* Some mice die before | can measure
* | cannot handle more than 100 mice at a time
* Sometimes mice move while I'm injecting

— Statistical constraints (How the data will be used)
* | will perform a comparison to a control group
+ | will compare the mean of the two groups
* The datais normally distributed

* This is the first experiment ever!
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Why this course?

Stage 1: Arrival

| have been told that | have to talk to
you to write in this form the number of
mice for my experiment. | have enough
with 3000.
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Why this course?

Stage 1: Arrival

| hate all this writing for the
Ethical approval of my
experiment.

September 15, 2016 11 /85



Why this course?

Stage 1: Arrival

And why should | bother with a
statistician? He doesn’t know
anything about my experiment,
nor Biology.
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Why this course?

Stage 2: Value of Experimental Design
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Why this course?

Stage 2: Value of Experimental Design




Why this course?

Stage 2: Value of Experimental Design
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Why this course?

Stage 3: Experimental Design

I'm studying how the
area of a lesion changes
with a new drug.

Of course, there is no
previous experience, THIS IS
SCIENCE!! It's NOVEL.

What a stupid
question! | was
sure it was a bad
idea to talk to this
guy.
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Why this course?

Stage 4: Gathering prior information

Really? Don’t you know if

the lesion can be around

Well, it has to be around 0.1 mm?2 or 10,000 mm?2?
50 mm?2.

September 15, 2016 17 / 85



Why this course?

Stage 5: Setting a target for success

N

When would you say your
drug is interesting?

I don’t know, 1 just want
to see what comes out
from the experiment.

September 15, 2016 18 / 85



Why this course?

Stage 5: Setting a target for success

N

If it decreases to 49.5 mm?,
would you say it is worthy?

No, to be of any use, it
has to decrease, at least,
below 25 mm2.



Stage 6: Gathering variance information
expect around 50 mm? in the

' control group, and 25 mm? in
the treatment group?
significance I don’t know, the
experiment is new. If it

were not new, | would
not have anything to
publish.

What fluctuationsdo you
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Why this course?

Stage 6: Gathering variance information

But you must know something a priori. When you measure

the control group, do you expect values like
l 50.00, 49.96, 50.14, 50.14, 49.76 (0%=0.1)
or values like
58.15, 8.27,31.96, 21.86, 129.75 (0?=1000)?
Both have a mean of 50, but you understand detecting a

change of 25 in the second case is more difficult. The more
@ difficult it is to detect the change, the more mice you’llneed.
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Why this course?

Stage 6: Gathering variance information

l | don’t have any clue.
ere is no other way than

performing a exploratory
experiment with a few animals.
And then repeating the
experiment design with the
results.

@
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Why this course?

Stage 6: Gathering variance information

l Well, ... there is a paper where they perform
something similar to my experiment, but with
a different drug. They report a variance of
1000. And for the treatment, it is less clear,
but we may assume we will have similar
fluctuations.

@
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Why this course?

Stage 6: Gathering variance information

Y 4

If you are not sure about the
treatment variance, you may
increase it by some reasonable
safety factor (20%, 30%).

@

20% is fine

Introduction to sample size calculations



Why this course?

Stage 7: Setting error tolerances

You know, that in some cases, the test will say there is a
difference between the treatment and control groups when,
actually, there is none (Type | error). How often do you accept
to have this kind of errors? If you choose 5%, then your
CONFIDENCE LEVEL in the hypothesistesting will be 95%.

@-

Yes, this is fine, it’s
quite standard.
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Why this course?

Stage 7: Setting error tolerances

On the other side, there will be ocasions, in which there is
actually a difference of 25 mm?, but just because of chance,
you’ve been unlucky and your mice were not able to show
this difference (Type Il error). How often do you accept to
take this risk? People normally choose between 10% and 20%.
The POWER of the test would be 90% or 80% respectively.

@-

| prefer to be very
sensitive.

Then, you'll
need more mice.

. Introduction to sample size calculations September 15, 2016



Why this course?

Stage 8: Calculating the number of mice

‘ The formula to calculate the number of samples is

2
t. -t
N,=N, :Nz(Tﬁ] (s2+53)

significance @

Looks complicated

Don’t worry
there is a Excel
and Word
template




Why this course?

Stage 8: Calculating the number of mi

LT Student unpairedads

- @

Aineadién imero % ! eicas

t{1-alpha)
t{beta)

1,64520009
-1,28178404

‘The probability of commiting the error of rejecting the null hypothesis when it is true
The probability of commiting the ermor of not rejecting the null hypothesis when itis false

79,26
50,00 %Variacion

MuD observable

Mux 158,524

MuD deseada
25 |Nrequerida £
Nusada 3875
CRIN)

Wrvs ko /53 «

Lo R 00 (=

ce

o =]

=& 3

Insertar Disefle de pigina Férmulas Dates 1 vista Atrobat
I - - ; T B T autowms - A
Calibn 1 A - » F Ajustar texto. General % >
A = » = i 1 E— A
n-A- iy 2 ) Darformato Estiosde | lertas Eumina: Fomata Oudenar Buscr
G-A- EEFE £ continary centrr - 5 st Estinsde | e | 2 o

yfiltrae - seleccionar =

=
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Why this course?

Stage 8: Calculating the number of mice

ood news, you
only need 31
mice in each

group.



Stage 8: Calculating the number of mice

But sometimes, some mice get a cold, or die

from something not related to my experiment,
or they are for any reason useless.

How often does

it happen?
@
significance @ About

20% of the
times

Then, use
31/0.8=39 mice
per group.
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Stage 8: Calculating the number of mice

I also want to test
‘ several drugs
@

0K, simply repeat this
design exercise for each

pair of groups you want to

compare.

If you are using a group for
multiple (M) comparisons,
remind to reduce a (an easy
option is a/M instead of a,

0.05) in your design.

0. Introduction to sample size calculations September 15, 2016 31/85



Why this course?

Stage 8: Calculating the number of mice

What could | do if | get an
‘ unreasonable number of mice?

You would have to relax your
constraints: sensitivity (A) or error

(o, B). You’ll need fewer mice.
significance
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Why this course?

Replicates

Should I replicate the

That depends on the p-value you get after analyzing the
experiment to be

data. If you get p-value=a, there is 50% chances that if you
sure of the result? | replicate the experiment you cannot reject the null
would like to repeat . . . . .
y—— hypothesis. P-value=a is a suggestion of an interesting
' result, but not a definitive result. A p-value=a/10 has a
probability of 80% of getting the same result if you
replicate it.

Greenwald, A. G.; Gonzalez, R.; Harris, R. J. & Guthrie, D.
Effect sizes and p values: what should be reported and what
should be replicated? Psychophysiology, 1996, 33, 175-183
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Why this course?

Summarizing

Designing your experiment made you think about:

1. Whatis a RELEVANT experiment result.

2. What is reasonable to EXPECT from the experiment.

3. Which is the BALANCE | have chosen in this experiment among sensitivity, errors and
sample size.

4, HOW MANY mice you need because of statistical aspects and how many because of
experimental aspects.

And you are guaranteed to SAVE your MONEY, TIME and mice LIVES.

After all, it was not
that bad to talk to
this guy.
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Outline

@ Introduction to sample size calculations

@ Basics of statistical inference

0. Introduction to sample size calculations September 15, 2016 35 /85



Basics of statistical inference

Research hypothesis:

The new vaccine reduces the number of infected animals in a population.
Ho: m>my One-tail test
H: 7w<mg

Research hypothesis:

The new drug increases survival for patients with this disease in the next 5 years.
Ho: 5§<5 One-tail test
Hi: S§$>5

Research hypothesis:

The new machine does not produce tablets with the prescribed concentration
Hy: c=c¢ Two-tail test
H: c#a
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Basics of statistical inference

Research hypoteheses never use “All", “Some”, “None" or “Not all".

Research hypothesis:

All hypertense patients benefit from a new drug.

No hypertense patient benefits from a new drug.

Problem: We would have to measure absolutely ALL hypertense patients

Research hypothesis:

Not all hypertense patients benefit from a new drug.

Some hypertense patients benefit from a new drug.

Problem: Too imprecise, being true does not provide much information
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Basics of statistical inference

) Safe analysis:
Post-mortem analysis:

@ Design hypothesis research
@ Design hypothesis research gn e

@ Collect data
@ Hypothesis test

@ Calculate number of samples
@ Collect data
@ Hypothesis test

F o
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Basics of statistical inference

@ You CAN reject the null hypothesis and accept the alternative hypothesis

@ You CAN fail to reject the null hypothesis because, there is not sufficient
evidence to reject it

@ You CANNOT accept the null hypothesis and reject the alternative because
you would need to measure absolutely all elements (for instance, all
hypertense patients).

It's like in legal trials:

@ The null hypothesis is the innocence of the
defendant.

@ You CAN reject his innocence based on proofs
(always with a certain risk).

@ You CAN fail to reject his innocence.

@ You CANNOT prove his innocence (you would need
absolutely all facts)
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Basics of statistical inference

The goal of hypothesis testing is to disprove the null hypothesis! We do this by
proving that if the null hypothesis were true, then there would be a very low
probability of observing the sample we have actually observed.

However, there is always the risk that we have been unlucky with our sample, this
is our confidence level (the p-value is also related to this risk: the lower the
p-value, the lower the risk).

o e oo ®oe ®e
[ X e o oo &6
®® e oo e oo
- _ @ L g J
s  o%s
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Basics of statistical inference: Significance and Statistical

power

Significance tests

power=0.8

in10% =
100 tests

P(real)= 0.1

1,000 tests

‘sig’level=0.05

in90% =
900 tests

Total number of positive tests = 80 + 45

False discovery rate (proportion of false positives)

(80 true pos tests)
Real effect /
\_\

80% test positive

20% test negative
(20 false neg tests)

95% give negative

= 855 true neg tests
No effect /

T——__|5% postests

= 45 false positives

45+ 80

0. Introduction to sample size calculations
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Basics of statistical inference

An engineer works for MyPharma. He knows that the
manufacture of each tablet has a standard deviation of 1
> VA - mg. (the manufacturing process can be approximated by
AR ‘y‘/ %= a Gaussian). Knowing this, he sets the machine to a
v& target amount of 250 mg. In a routine check with 20

. 4
* >
i* ﬁ tablets, he measures an average of 250.66 mg. Is it

possible that the machine is malfunctioning?
@ Step 1: Define the hypotheses

Ho : ;o = 250

Hi o # 250
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Basics of statistical inference

E{x} = p, Var{x } = ¢?
i =xi = B{p} = p, Var{p} = 0®

0.4 T T T

N
031 / \\ 4

/ \
02 / \ g
01F / \\ 1
e AN
0 o L L L L~
246 247 248 249 250 251 252 253 254

04 ! ' ! : T T T
o\
03t \ N=1 g
N
N\
02} N 1
0.1+ ) \ 4
) N
0 /\ . | | |~y
246 247 248 249 250 251 252 253 254
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Basics of statistical inference

E{x} = u, Var{x} = ¢*

2
A X1+ X2
p=—7—=E{i} =p Var{i} = -
04
/ .
03l / \ 1
02} / \ 1
AN
/ N
01 1
. ‘ ‘ ‘ P

%5 247 248 249 250 251 252 253 254
04 . . :

03} // N=2 1

/
02t / R
A \
0} / / \ ]
T ‘ .

%5 247 250 251 252 253 254
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Basics of statistical inference

E{x3} = p, Var{xz} = ¢?

2
R X1+ X0 + X3 R R o
f=————=E{j}=p, Var{i} = —
3 3
04
/ \
03l / \
02} y. \
AN
/ N\
01
b ~
26 247 248 249 250 251 252 253 254
04 :
03f // \\ N=3
/ N
02F
// \
o1f / \
b .
26 247 248 249 250 251 252 253 254
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Basics of statistical inference

E{x} = p, Var{xy} = o

2
R X1+ X2+ X3+ X4 n n o
fi = = E{fi} = p, Var{fi} = —
4 4
0.4
/ \
03} / \
02 / \
\
/ \
0.1
// \\\\
—— L L L L [
246 247 248 249 250 251 252 253 254
0.4 T T
0.3} // \ N=4
/ \
02F N\
// \
o1f / \
NI
246 247 248 249 250 251 252 253 254
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Basics of statistical inference

0.2

5
1 N R
> xi = B{j} = p, Var{f} = —
i=1

'a:

o]

5

0.4 T T T T T T T

02t / AN 4

0 I I I
246 247 248 249 250 251 252 253 254

0.4

0.2

Q
246 254
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Basics of statistical inference

10

.1 N N

=3 > xi = B{fi} = p, Var{p} = 0
i=1

0.2

0.4 . : : : , , :
\\
03t \ B
/ \
o2} // \ ]
ot / N i
S~

0 e I I I i

246 247 248 249 250 251 252 253 254
0.4 . : : e . . -

/
03 / N=10 4
/
// N\
o2} / \ 1
/ AN
01t // .
pd N
///L/ ‘ H \\\L ‘
o . . . , , ,
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Basics of statistical inference

0.2

20

.1 N N

=3 > xi = B{fi} = p, Var{p} = 20
i=1

0.4 T T T T T T T

02t / AN 4
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03 / N=20 -+
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Q
246 247 248 249 250 251 252 253 254

0. Introduction to sample size calculations September 15, 2016 49 / 85



Basics of statistical inference

@ Step 2: Find the distribution of a suitable statistic if Hy is true

2 oo
XfNN(u702):>ﬂ~N<u,7V>éZ—ﬂJNNN(O,l)
VN

@ Step 3: Plug-in the observed data if Hy is true

_250.66 — 250

2= 2 09721

V20
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Basics of statistical inference

@ Step 4: Calculate the p-value Probability of observing a value as extreme as
this one if Hp is true.

p—value = Pr{|Z|>209721} = Pr{Z < —2.9721} 4+ Pr{Z > 2.9721}
= 0.0030 = 0.3%

04

035+

03r

025+

02r

015+

01r

005+
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Basics of statistical inference

@ Step 5: Reject or not reject Hy

p — value = 0.003(*x) < 0.05 = Reject Hy

p<0.05 *
p<0.01 *k
p<0.001 | ***
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Types of tests

@ Significance tests:

Ho : = pio
Ha: 1 # po

@ Equivalence tests:

Ho : 1 # po
Ha : = pio
@ Superiority tests:

Ho = p < po
Ha : pp > po

@ Non-inferiority tests:

Ho = p < po
Ha:p > po
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Outline

@ Introduction to sample size calculations

@ Sample size determination
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Sample size determination: Confidence level

@ Step 1: Define the null hypothesis
@ Step 1: Define the minimum meanigful
difference

Ho : = 250

@ Step 2: Distribution under the null A = 0.5(mg)
hypothesis

. @ Step 2: Determine population variance
z=E2E_ 2 N
VN VN o? = 1°(mg®)

© Step 3: Plug-in observed data © Step 3: Determine significance and
statistic threshold

z=209721

a =0.05= Pr{|Z]| > 1.96} = 0.05
@ Step 4: Calculate p-value

tep 4: Solve for N
Pr{|Z| > 2.9721} = 0.3% © Step 4: Solve for

A 1.960 2
@ Step 5: Decide on Ho o> 196= N> (7)) ~154

3

0.3% < 0.5% = Reject
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Sample size determination: Confidence level

Factors that affect sample size:

(1)

@ Confidence level: 1 —at=z_g¢ 1= N1
More confidence requires more samples.
@ Sample variance: 02 1= N 1
If the sample variance increases, it is more difficult to detect the diference A.
© Effect size: A |= N1
If we want to detect more subtle differences, we need more samples.
©Q One- or Two-sided test: Two-sided = N 1

If the test is one-sided, z1_g should be replaced by z;_, which is smaller.
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Sample size determination: Test power (right)

2 p
o o (Zl_g + 21_5)(7> <(Zl_a +21_B)O'>
+zi_a—— < p1—z218—— => N > 2 = 2
rora=s N ST N ( 111 — flo A

o
_:w_ﬁ
1 L

i
219 2495 250 260.5 251 25615
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Sample size determination: Test power (left)

2 p
o o (Zl_g +21_5)(T> <(Zl_a +21_B)O'>
+z1_8—F—= < po—2zi—e —— => N > 2 = 2
frasey SR ( 111 — flo A

0
2485 249 249.5 250 2505 251

0. Introduction to sample size calculations September 15, 2016



Sample size determination: Test power (two-sided)

Ho = = po

Hitp < poUp > po

A

o (2o

()

2495 250
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Sample size determination: Test power (one-sided)

c
L — Zlfﬁ\/—w

1 L L
i
219 2495 250 2505 261 25615
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Sample size determination: Confidence level+Test power

Factors that affect sample size:

o

o

o

(g +21-5)0\
N> <A )

Confidence level: 1 —a t=z_g = N1
More confidence requires more samples.

Population variance: ¢ 1= N 1

If the population variance increases, it is more difficult to detect the diference
A.

Effect size: A |= N1

If we want to detect more subtle differences, we need more samples.
One- or Two-sided test: Two-sided = N 1

If the test is one-sided, z;_g should be replaced by z;_,, which is smaller.

Test power: 1 — 1= N1

If we want to increase the power of the test, we need more samples.
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Test power calculation: Confidence level+Sample size

If we fix the sample size, then

A
71 p=——z-3=>| PowerLr=Pr{z>-z 3}=1-4 (4)

g

VN

Confidence level: 1 —at=z_s 1=z gl=>7

More statistical confidence implies less statistical power.

Population variance: 02 1= z1_5 |= 7 |

If the population variance increases, the statistical power decreases.

Effect size: A=z _gl=7]

If we want to detect more subtle differences, the statistical power decreases.
One- or Two-sided test: Two-sided = z1_¢ >z = 215 = 7|
Two-sided tests have less power than one-sided tests.

Sample size: N |= z1_g = 7|

If we use fewer samples, the statistical power decreases.

© ©6 0 o o
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Outline

@ Introduction to sample size calculations

@ Thoughts on variance
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Population variance # sample variance

Population mean
A 1 N
Sample mean = = 5> X

. . A
Population variance = o

N
Sample variance £ 62 =352= S (x — f)?

qwt
O
n >
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Population variance # mean variance

Population variance £ 02 = Var{x;}
Mean variance £ o7 = Var{fi} = -
Sample mean variance = 55
o2 # 02 # 55
0.4 T T T
03f N=20 1
021 4
01r 4
| 2l T v/ 1 AN
246 247 248 249 250 251 252 253 254
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Components of the population variance: repeated measures

Xim = bpi + €im
2_ 2 2
0" =0pgp+ 0¢

If we repeat the measurement process M times
| and average the results

p & &
Xi = leim =N 21 (bpi + €im)
m= m=

LM
= bpi+ > €im
m=1

1
0* = 0gp + 1500 (5)
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Finite population effects

Very large population:
@ Blood pressure in Spain:

p,0°
@ We study a group of N = 30 people:
R o’
My 0-;%4 = N
Small population:
@ Blood pressure in this class:
1, o’

o We study a group of N = 30 people (out of 32!!):

. o? N
T o

N population

This formula is only valid for the mean. In this example,

02712 1,@ 712i
730 32) 3016
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Repeated measures # Replication

Repeated measures: Replication: Allows estimating o7
2 2

_ g2 41
0" =0pp + e
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Components of the population variance: blocking variables

Blocking:

2 2 2 2
- %—F opp + O treatment + O

3
-5
320
&

No blocking:
2 _ 2 2 2 2
o= Ugender + Ogp + O treatment + O

CCCCCCC

430520
33298 . 2831998
39 0d 093

% 33%d)
%




Replication # Replicates

X,'J' = u -+ Olj -+ €jj
Replication: Allows estimating o7,

Replicates: Allows estimating crij

Replicate

Control

Treatment

Xij = [+ o + €
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Outline

@ Introduction to sample size calculations

@ Guidelines
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Sample size determination fails if ...

@ The estimate of the sample variance is wrong.
@ The distribution of the samples does not follow the hypothesis.
© Two populations are assumed to have the same variance, when they do not.

@ Two populations are assumed to have the same distribution, when they do
not.

@ Variable transformation does not fully solve a distribution problem.

@ Large-sample approximation does not apply.
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If the sample size is too large ...

Improve the measurement repeatability and reproducibility.
Introduce a blocking variable to reduce the precision error.
Use a variable with a better precision.

Replace a categorical response (yes/no; pass/fail; ...) by an ordinal or
continuous variable.

Identify covariates that can help to reduce the uncertainty in the model.
Reduce the confidence level.

Reduce the test power.

0000 ©00O0CO

Repeat measurements on the same subject as a way to reduce measurement
variance.

@ Use paired-sample methods instead of two-independent-sample methods.
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Non-parametric tests

In many ocasions we do not know the distribution of the underlying data and

non-parametric tests are used

Some Commonly Used Statistical Tests
Corr di
Normal theory based test orrespon .mg Purpose of test
nonparametric test
Mann-Whitney U test; Compares two independent
samples

t test for ind dent 1 .
estior mdependent samples Wilcoxon rank-sum test
Wilcoxon matched pairs

Examines a set of differences

Paired ¢ test .
signed-rank test
. . Spearman rank correlation | Assesses the linear association
Pearson correlation coefficient . .
coefficient between two variables.
One way analysis of variance | Kruskal-Wallis analysis of
‘ Compares three or more groups
(F test) variance by ranks
. . Friedman Two way analysis of | Compares groups classified b
Two way analysis of variance Way Y P group Y
variance two different factors

September 15, 2016 74 / 85
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Non-parametric tests

The number of samples needed for a non-parametric test is larger than for a
parametric one (because it throws away information, e.g., the sign test only uses
the sign). The sample size must be increased by a factor that is inversely
proportional to the “Asymptotic Relative Efficiency"”:

Nnon—parametric = % (7)
Mann-Whitney U test 3/m = 0.955
Wilcoxon signed-rank test 3/m = 0.955
Spearman correlation test 0.91
Kruskal-Wallis test 0.864
Friedman ANOVA 0.955J/(J + 1)
If not in this table, use a conservative value 0.85

where J is the number of repeated measures.
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Bad practices |

@ There is one magic sample size (say, N = 10) for all
situations.

@ Use N = 30 because Student’s t distribution is
approximately normal for that size.

© Use N = \/Niotay + 1 in a single sampling from a
population with N;o:a individuals.

© Use a table based on Cohen's d = %. Reason: it
assumes normality in the data.

@ Sample size and power calculations are exact.
Reason: they are calculated in a conext with high
uncertainty (the experiment has not been performed
yet).

@ The sample variance is unknown. Reason: look for
previously published results or perform a pilot study.

0. Introduction to sample size calculations

uw

41

Cohen's d

Power 0-2| 0.5 0.8

0.25
0.50
0.60
0.70
0.80
0.90
0.95
0.99

84 |14
19332
246 40
310150
393 |64
52685

6

13
16
20
26
34

651105 |42
920148 |58
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Bad practices Il

("]

o

Zero acceptance number sampling plans are superior to other samplings.

Reason: they are often poorly understood, and they maybe appropriate or
not.
Postexperiment power is a useful indicator of the value of an experiment.

Reason: postexperiment power calculation assumes that the parameter
estimates are the true value of the parameters. Post-experiment high power
is a necessary condition for supporting the goal of the experiment, but it is
not a sufficient condition.

Special software is required to calculate sample size and test power. Reason:
accurate values are better calculated by software, but approximate values can
be calculated on paper.

We do not need to know how the collected data will be analyzed. Reason:
Every sample size calculation is matched to an analysis method and decision
criterion.

An experiment may be practically significant but not statistically significant.
Reason: to be practically significant, the experiment must be first statistically
significant. The converse is not true: an experiment may be statistically
significant, but not practically significant.
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Good practices

@ Calculate the sample size, power and/or effect size before collecting data.
Reason: Make sure you will have enough (and not too much) data to meet
the goal of the experiment.

If necessary, perform a pilot study to estimate variance.
Increase the sample size to compensate for anticipated losses at random.

Before collecting your data, make sure that the experiment design meet the
goals. You may even simulate the data collection and analysis.

Use power calculation to design the experiment and confidence intervals to
report the results.

Use at least two methods (two softwares, or manual and software) to make
sure there is no mistake.

© 606 06 o000

Write up a summary describing all the steps taken to design the experiment.
It will be useful for future designs and to review the outcome of the
experiment if it fails.
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Outline

@ Introduction to sample size calculations

@ Further reading
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Further reading

Introductory tests:
@ G. van Belle. Statistical rules of thumb: Chapter 2. Wiley, 2008

@ A. Gelman, J. Hill. Data analysis using regression and multilevel /hierarchical
models: Chapter 20. Cambridge Univ. Press, 2007

@ Fox N., Hunn A., and Mathers N. Sampling and sample size calculation The
NIHR RDS for the East Midlands / Yorkshire & the Humber, 2007

Statistical software:
e PASS manual
o G* Power manual
o Stata power and sample size manual

@ MLPowSim manual
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Further reading

Web calculators:
@ http://powerandsamplesize.com

@ http://cran.r-project.org/web/views/ClinicalTrials.html
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Outline

@ Introduction to sample size calculations

@ Summary

©
[e]
=)
a
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Sample size calculations are particularized to the way the data will be
analyzed.

The goal of hypothesis testing is to prove that the null hypothesis is false.
Our research hypothesis should be in the alternative hypothesis.

There are five variables strongly related: sample size, population variance,
confidence level, test power, effect size (relevance)

© 0 o o

We can measure the variance of many different, but related, variables
(population, sample, sample mean, ...)
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Summary

Russell V. Lenth
Professor Emeritus
Department of Statistics and Actuarial Science

The University of lowa
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@ Introduction to sample size calculations
@ Why this course?

Basics of statistical inference

Sample size determination

Thoughts on variance

Guidelines

Further reading

Summary
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Chapter 1. Sample size for the mean
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Outline

@ Sample size for the mean

@ A single sample with known variance
A single sample with unknown variance
Paired samples
Two-samples with known variance
Two-samples with unknown variance
Equivalence test for one mean
Equivalence test for two means
ANOVA contrasts
Multiple testing correction
Summary
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Outline

@ Sample size for the mean
@ A single sample with known variance

1. Sample size for the mean January 28, 2017 57



A single sample with known variance

2 p
o o (Zl_g + 21_5)(7> <(Zl_a +21_B)O'>
+zi_a—— < p1—z218—— => N > 2 = 2
rora=s N ST N ( 111 — flo A

i
219 2495 250 260.5 251 25615
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A single sample with known variance

Let us focus on the limit i value, the one that separates the values within the
confidence interval and values outside:

P a _ f—po
=l t+ Z1—a—F= = Z1_a = 55
= 5N 3 =
[i — Z]_ = Z1_3 = Hl £
H= Bf B =

If we add now both equations, we reach the same result as in the previous lecture

[od

2
Zi_a +z29_
2g+zp= /~L17Mo | wv= (1251ﬁ> (1)
VN

where A = % is the normalized effect size. However, note that the first ratio

is distributed as a N(0,1) and that z;_a is the z value of this distribution below
which there is a probability 1 — 5. The same applies to the second ratio.
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A single sample with known variance

Example 1

Let us assume that we are manufacturing syrup with 3
mg/mL of a drug. The standard deviation of the
manufacturing process is 0.1 mg/mL, and the deviations
from the target amount follows a Gaussian distribution.
How many samples do we have to screen if we want to
detect a deviation from target of A = 0.03 mg/mL, with
a power of 90% and a confidence level of 95%7?

y

\:_ Vi
~

Solution:

Power 21— f=00= 8=01= z_g = 2, =1.2816
Significance£ 1 —a =0.95 = a = 0.05 = 71_a = 79,975 = 1.9600
Effect size £ A = 0.03

Population variance £ o2 = 0.12 = 0.01

z otz 2 2
N> (250 = (Leseetasie)” — 116,75 = [N = 117
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A single sample with known variance

Example

Let us assume that the measurement process
(determination of the concentration of drug in each
sample) has a coefficient of variation of 15%. How does
this measurement error increase the variance of the
samples?

y

\

\:_ V.
~ ==

Solution:

Vv = Z— = 02 = (CVp)? = (0.15 - 3)2 = 0.2025
0

The variance of the measurements is given by the variance of the manufacturing
and the variance of the measurement process

o =02 + 02 =0.01 + 0.2025

manufacturing

o= Vo2 =0.4610
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A single sample with known variance

Example 2

What is the sample size now if we want to be as precise
as before detecting the malfunctioning of the
manufacturing process?

\:— -
N —
Solution:

N (At as 2 (19600 + 1.2816
Alo ~ \ 0.03/0.4610

2
) = 2481.2
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A single sample with known variance

Example 3

We wonder if we can reduce the cost of the experiment
by dividing each syrup sample in 4 aliquotes, and
determining the concentration of the sample by averaging

gy S — the estimation of the concetration in the 4 aliquotes?
e

Solution:
The variance of the samples now reduces to

a2 0.2025
02 = 012113nufacturing + Tﬁ =0.01 +

= 0.0606 = o = 0.2462

Zime +21-5\%  [1.9600 + 1.2816 2
N> (22l As0) (2R g0767 [N =7
>< Ajo > ( 0.03/0.2462 ) e VBT

However, the total number of concentration determinations is

4N = 4 -708 = 2832 > 2482. That is, it is cheaper to perform independent
concentration determinations than 4 concentration determinations from the same
sample.
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Outline

@ Sample size for the mean

@ A single sample with unknown variance
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A single sample with unknown variance

Example 4

' \ ‘\'\
% 5
"

-~

Solution:

1-month old babies awake by night every 3 hours with a
standard deviation of 0.5 h (the sleeping period is
supposed to be normally distributed). We hypothesize
that babies in a orphanage adapt already at this age and
sleep longer (the mean shifts at least 1 hour). We do not
know the standard deviation of the sleeping time since
this may have also changed with respect to the general
population, but it cannot be too far from 0.5. We plan to
estimate the standard deviation of the sleeping time of
babies in an orphanage from the data itself. How many
children do | have to examine in order to prove my
hypothesis?

We cannot apply the calculations above because we do not know the population
variance, but make a new theoretical development.
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A single sample with unknown variance

We may substitute o (the true population variance) by s? (the sample variance)
in the design equations above

7o =L 5t agn1 =0
N N
=0 oty 5 8y, =BE
v k0 7
If we add now both equations
N
hogonatthpeva=—"5 | N= ;
R VN A

where the normalized effect size is A = 2

1. Sample size for the mean
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Central Student’s t distributions

t, : v degrees of freedom

04 T T T
v=1
v=2
03 v=10
—=30
(Gaussian
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Noncentral Student’s t distributions

tu, 1 v degrees of freedom, ;1 non-centrality parameter

—— =01

— ]
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A single sample with unknown variance

Example (continued)

Solution:
Our hypothesis test is one-sided:

Ho:pp <3
Ha:p>3
'/ W We need to solve the equation
A
N baoN-1T1p & N1
P N — \/_W
& _~ A
= A

We will use @ = 0.05, 5 = 0.1, and A = 1. We do not
know s yet, we will use Syyess = 0 = 0.5 instead. This
gives

Sguess o 0.5
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A single sample with unknown variance

Example (continued)

-
Z; 2
-

Substituting
t —1+tho 2 N 2
N (0.95,0,N 1 : 0.9, 2-,N 1)

This is a non-linear equation with no analytical form. We
can solve it iteratively. For the first iteration we will use
the Gaussian parameters:

Iter. t0.95,0,N—1 tO.Q,LN,N—l N
1 X Zp.95 = 1.65 | ~ Z0.9 — 1.28 2.14
2 5.14 9.05 50.36
3 1.68 1.59 2.66
4 3.37 5.39 19.17
30 1.98 2.69 563 - | N =16

1. Sample size for the mean
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A single sample with unknown variance

An approximate formula for this case is given by

t1_2 o N—1+ ti—gon—1)\>
N:(l s.0N-1+ B-pon 1) 3)
A

where the non-centrality parameter is disregarded.

Example (continued)

5

A ‘\\\3& The iterative procedure for this approximate method
% \ converges to 3.99, which would make . As seen in
2 : the exact formula (with non-centrality parameter), N = 4

would result in an insufficient level of confidence and/or

i 2 ’.'/
- =
— test power.
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Test power improvement

Example (continued)

Due to the increase from N = 5.63 to N = 6, we increase a little bit the test power
(if we keep fixed the confidence level in our hypothesis test). To calculate the new
test power we need to find 1 — 3 such that the following equation is satisfied

f-aonN-1F 1t g 2 N1

5

N = /A

A

2
£ aF it
( 0.95,0,5 1_[37\%75)

We find |1 — 8 = 0.9282 |, that is the power has slightly increased from 90% to
92.82%.

1. Sample size for the mean January 28, 2017 18 / 57



Test power improvem

Example (continued)

025
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Outline

@ Sample size for the mean

@ Paired samples
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Paired samples

Example 5

We are developing a cough mixture and we would like to
know its effectiveness. For doing so, we will take N
different people with cough. Measure the frequency of
coughing (coughs/min) before taking the mixture and 1
hour after taking the mixture. For a severe allergic
response, this value is about 5 coughs/min. We would
like to detect a reduction to at most 3.5 coughs/min.
The standard deviation in the population of people with
severe allergic response is 0.4 coughs/min. Let us assume
that due to the limited time of observation, we may have
a standard deviation due to measurements of 0.1
coughs/min. Confidence level=95%, Power=90%.

Solution:
We will see that with a small transformation of the data, we can use the case of
one sample with known or unknown means.

1. Sample size for the mean January 28, 2017 21 /57



Paired samples

Let us denote as x;; and xj» the two measurements for the i-th individual. Each
measurement alone has a variance

Var{X;} = Var{X,} = 02,,,, = o> 2

Upopulation + O measurement
Let us define now the difference between the two measurements
Ax; = Xj1 — Xj2

If the two measurements are independent from each other, then the variance of
the difference is given by

Var{Ax} = 20-?0tal = Opax = \ﬁatotal (4)

If there is no difference in the treatment, then

/’[’AX:O
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Paired samples

Example (continued)

The hypotheses in our case are

H()ZAXSO
Ha: A >0

For simplicity, let us assume a design with known
variance. The design values are A = 1.5,

02 =2-(0.42+0.12) = 0.34, A = 2 =257,
a=0.05(z1_o = 1.65), 8 =0.1 (z1_5 = 1.28).
With these values we have

2
N%%) 1305 [N=2]
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@ Sample size for the mean

@ Two-samples with known variance
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Two-samples with known variance

Example 6

We are interested in knowing if two competitive drugs
taken by pregnant women has an effect on the
birthweight of their babies. We presume that the
standard deviation of the birthweight is ¢ = 800 g, and
the mean of the whole population v = 3 kg. We are
interested in detecting differences larger than 300 g.
Confidence level=95%, Power=90%.

For this experiment we plan to observe a group of N
women taking drug 1 and N, women taking drug 2.
Then, we will calculate the mean of each group and

check if their difference is significant or not.
Solution:

We need to derive a new theoretical framework, although it is very similar the
one-sample case.
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Two-samples with known variance

Measurements in group 1: X1,15 X1,25 «oy XL,Ny — ﬂl = Z X1,i

Measurements in group 2: X215 X225 «ey X2 N, — ﬂz = ,62 Z X1,i
1

Ap = pa—fo
~ o2 | o (5)
Var{Au} = F+ 7
Optimal sampling:
argminVar{A\u} st. Ny + No =ct = N, = ng (6)
Ny, N> o1
Hypothesis test:
Hy:Ap=0
Ha:Ap#0
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Two-samples with known variance
We can solve this problem as we did for the one-sample case through the use of

statistics with known distributions

Zi_a = _Ap
2 52 o2
i1+i2

Ny N

R

Adding both equations we have

Zi_a + 21 8= —F/——
N
N TN,

Using the relationship given by the optimal sampling we reach to

Zi—2+21-p Z1—2 +271-8
Ny = [ BgTAs Ny = | B2 As )
A __ A
o2(01+02)

o1(o1+02)

January 28, 2017
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Two-samples with known variance

Example (continued)

We note that o1 = 0>, so N; = N>, = N. The data
provided yields

a=0.05= z7_g = 1.96
B=01=2z_5=128

A = 300
o1 = 05 = 800
A=__—8 002652
0'2(0'1+<72)2
N = (Mg5tf)’ = 1404 - [N =150
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@ Sample size for the mean

@ Two-samples with unknown variance
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Two-samples with unknown variance: o1 = o5

Since the variance of both groups is presumed to be the same, we can estimate
the variance from both at the same time as

The sample variance of the difference sought is

2 2
2 S12 | Si2 2 2

so = =s
A N, N, BN
The statistics defined as
Ap A—Ap
ti—o.0,df = 75 —B, A df = 7
S12/ N Ap 512\/;

follow Student’s t distributions (central and noncentral, respectively) with
df = 2(N — 1) degrees of freedom.
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Two-samples with unknown variance: o1 = o5

Adding both equations and solving for N we get

ti-godf tH_pg o g

N =2 " 8
X (8)

where the normalized effect size is A = s - Remind that for sample size
calculation sp5 is normally unknown (yet) and it is substituted by Sgyess, the
standard deviation of the two populations (assumed to be the same in both).
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Two-samples with unknown variance: o1 # o5

The sample variance of the difference sought is

2 2
2 — S5,
Al‘ Nl N2
The statistics defined as
. B Ap .  A-Ap
1-%,0,df = 52 ) 1-8,72-,df — /2 52
Z1 + 2 Ap ﬁll + ﬁi

follow Student’s t distributions (central and noncentral, respectively) with

(Welch—Satterthwaite)

January 28, 2017 32 /57
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Two-samples with unknown variance: o1 # o5

We exploit now the optimal allocation for unequal variances, which states that

or Ny
or M
to obtain
tiogodr+t g a g\ ° tiogodr + 1 5 & g
Ny = _ Ap Ny = _ Ap
Al A2
) R . R 9)
where Ay = —=—— and A, = ——=——.
! s1(s1+s2) 2 v/ s2(s1+s2)
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@ Sample size for the mean
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Equivalence test for one mean

Example 7

Solution:

We are manufacturing tablets with a target amount of
drug of 250 mg. We have introduced a new
manufacturing process, and we want to show that the
new system is equivalent to the old system. How many
tablets we need to analyze in order to show that both
system perform equally? Presume that the variance of
the new manufacturing process has to be estimated from
the data itself. We want to detect departures from the
mean of at least 2.5mg (6 = 2.5mg), and the standard
deviation of the old manufacturing process is 3mg. We
want to have a power of 90% if the difference is larger
than A =5 mg. Confidence level=95%.

This is an equivalence test with hypotheses

Ho : o # 250
Ha : p =250
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Equivalence test for one mean

Actually, the hypotheses tested are

Ho @ |p— pol > 6
Ha:lp—pol <6

where § is a deviation from pg. This is equivalent to

Ho: p—po<—90 or p—pp>9a
Ha: p—po>—-0 and p—po<46

Applying the Two One-Sided Tests (TOST) methodology, we decompose the
hypotheses above into two subproblems

Hor @ pp — po < =6 Ho2 : pp — pio >0

Hav s pp—po =2 =0 Hao : pp— po < 6
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Equivalence test for one mean

04 T
ignificance test

03f —

I L I
i
26 247 243 219 250 281 262 2563 264

quivalence test

2563 264
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Equivalence test for one mean

Known variance:

N = (zla i 215>2
A

Unknown variance:

f-aoN-1Ft_gas y g
N b

A

where A = % is the normalized effect size.

1. Sample size for the mean
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Equivalence test for one mean

Example (continued)

Substituting in our example: Sgyess = 3,

ey A=525_083
§~ [ 3
‘;Qli’:v‘/‘;J
" iy g t0.95,0,N—1 1t g 083 p_7 2
o ( ML LU PN
E & '
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Equivalence test for two means

We want to show the bioequivalence of two different
drugs, i.e., the mean effect of the two drugs are similar.
The diastolic blood pressure taking a reference drug is
about 96 mmHg, and with an experimental drug, it is
presumed to be similar. The population variation is

o = 18 mmHg. The two drugs are supposed to be similar
if their difference is smaller than A = 19.2 = 20% - 96.

a = 0.05, 5 =0.1. The minimum detectable difference
should be 6 = 10 mmHg.

Solution:
This is an equivalence test with hypotheses

Ho :pi1 — pa #0
Ha:pg —p2=0
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Equivalence test for two means

Sample size formulas are the same as in the case of the significance tests (Eq. 7,
Eq. 8, and Eq. 9) but substituting A by |[A — 4] and § by a.

Example (continued)

a = 0.05

=01

Sguess |: 18‘ | |

A A—§ 19.2—10

A = g = 18 = 051

SZ\ = Sguess %
df =2(N —1).
Finally we need to solve for N the equation

t1—a,0,df + tip, 5 df

N=2 | =[n=83
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@ Sample size for the mean

@ ANOVA contrasts
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1-way ANOVA contrasts

Example 9

placebo

Solution:

We are studying the effect of two different drugs on the
blood pressure of patients. We have three study groups:
placebo (drug 0), drug 1 and drug 2. We wonder which is
the sample size for each group if we want to test:

© There is no difference between placebo and the
other two treatments.

@ There is no difference between the two treatments

Let us assume that the variance of the population for
each of the treatments is ¢ = 18 mmHg, and that we
want to be able to detect effect sizes of A = 10 mmHg.

The two problems above can be addressed through an ANOVA contrast given by

Q po— 52 =0

Q p1—pu2=0
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1-way ANOVA contrasts

The following table shows an example of the expected measurements observed for
the balanced (all cells have the same size) experiment.

Placebo Drug 1 Drug 2

X01, X02 +-+y XON | X11, X12,---s XIN | X21, X22, ..., XON

=
Il
-
L1~
.
T
c><

N N N
A1 A1 A1
Mo-—nZXOJ Ml»—Nlej M2~—NEX2J

Jj=1 Jj=1 J=1

Each observation is modelled as
X,'J' :ﬂ +Ol,'+€,'j

The a's are the effect of each of the treatments and it is calculated as

Note that the sum of «;'s is 0 and that
i = . + o
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1-way ANOVA contrasts

The ANOVA table accounts for the contributions of the different sources of
variation to the total variation. The total variation is measured by the variance of
all observations. This variance is decomposed as the sum of different sources

SS5¢0t = 554 + SSe

T N T N N

DY Ga—p)=>> (i —p)+ O — f1i.)?

i=1 j=1 i=1 j=1 i=1 j=1

Source | SS MS F df

Total SStot dftot = NT - 1
€ SSe | MS. = 2 df. = T(N—1)

S, MS

a SSo | MSy =22 | F=Te | df,=T-1

45 = 40 4+ 5 = Treatments are significant
45 =5 + 40 = Treatments are not significant

1. Sample size for the mean
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1-way ANOVA contrasts

The following formulas show the true underlying contrast and how it can be
estimated
T T
fe = Z Cifti fic = Z Cifij.
i—1 i=1
The variance of the estimate is given by
T o2
nol— Ze
Var{p’C} - Z Ci N,‘
i=1
If all cells have the same number of observations N; = N

,
2.
i=1

Var{jfic} =

=
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1-way ANOVA contrasts

We may design the sample size through a one-sample mean design with the
hypotheses:

Ho e = 0
Ha:pc#0
This is equivalent to the derivation of Egs. 1 and 2 to give
Zi—2+21-p 2
N () (12)
A
or
ti-g.0df. T tip5 & a4
N = i (13)

>
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1-way ANOVA contrasts

Example (continued)

Design for pig — 2342 = 0

_ 10 = 0.45
18/12(— ) +(-3)
(mamine)? _ 51 07

Design for 13 — 2 =0

= P

184/02+12+(—1)2
— (s’ = 60,08 - [N=69

The most limiting comparison is the second one, so we

use [V = 69]

placebo

A=_—-L ___ -039
N
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@ Sample size for the mean

@ Multiple testing correction
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Multiple testing correction

Example 10

Let us suppose that we are screening 1000 compounds vs
a control, and that we have a confidence level of 95%

(v =0.05) in each test. Let us assume that none of the
compounds is effective for our disease. However, on
average, we will reject the null hypothesis for 50
compounds, and we will incorrectly assume that these 50
compounds make a difference with respect to the control.

This problem is known as multiple testing.

For K comparisons:

Bonferroni correction: Dunn-Sidak correction:

— Xfamily (14)

K a=1—(1— ctsamiy,) (15)
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Multiple testing correction

When analyzing ANOVA data:

T(T-1)
2

2
@ If we are to compare all effects vs control: K =T —1
ANOVA actually tests

@ If we are to compare all effects vs all others: K = <T) =

Ho U1 = W2 = UT
Ha : At least one p; is different from the rest

Once the ANOVA test fails (not all treatments are the same), post-hoc
comparisons are used. Remind to use a method that compensates for the multiple
comparisons

All vs all: Tukey's Honestly Significant Difference
@ All vs control: Dunnett's test

@ All vs best: Hsu's test
°

Unplanned constrasts: Scheffé's test
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All vs control

Suppose we have T treatments (Groups 1, 2, ..., T) that will be compared to a
control group (Group 0). These are contrasts of the form

po—p1 =0

po — p2 =0

po —pr =0

The variance of the contrast estimate is

11
AV, ~ _ 2
ar{fic} = o (/\/0 * /v,-)

1. Sample size for the mean
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All vs control

This variance is minimized (subject to Ny + TN; = ct) for

No = NiVT (16)

and N; given by the design formulas for ANOVA contrasts (Eqgs. 12 and 13) with
A A A A

fH(rE) s fhlek)

Remind to correct « in some way (Bonferroni, Sidak, ...) to account for the
multiple (T) comparisons, and that the number of degrees of freedom for € of this
design is

df. = (No — 1) + T(N; — 1)
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00000 O0O0CO

>
Il
Q>

N — (Zl_«'zx :’—Zl—ﬁ>2
A

One-sided or two-sided alternative test?

1 or 2 independent samples?

2 samples that can be reduced to 1 independent sample? (paired, ANOVA
contrasts, ...)

Known or unknown variance?

Equivalence tests # significance tests

Increase group size if more variance N, = ng—f.
Decrease « for multiple comparisons.

Increase control size Ng = Njv/T.
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Outline

@ Sample size for the mean

@ A single sample with known variance
A single sample with unknown variance
Paired samples
Two-samples with known variance
Two-samples with unknown variance
Equivalence test for one mean
Equivalence test for two means
ANOVA contrasts
Multiple testing correction
Summary
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@ Basic designs
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o Randomized Complete Block Design (RCBD)
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@ Least Squares
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@ Basic designs
@ Completely Randomized Design (CRD)
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Completely Randomized Design

Example 0

We are testing a new drug (X 325mg) for blood pressure
versus a placebo on 1000 people. We divide the group of
people in two equal groups of 500 people. Each person
will be randomly assigned to the treatment or the
placebo.

Y11 Y21
Y12 Y22

Y1,500 | Y2,500

@ yi.,¥».: Means of each one of the groups
@ y..: Overall mean
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Completely Randomized Design

The data (blood pressure) is supposed to be generated as

Yik =+t + €k

@ u is the average blood pressure of the whole population.
@ t; and t, are the effects of the drug (¢;) and the placebo (t2). It must be

2 45=0
J

@ yji is the measurement observed for the k-th individual who has been given
treatment j.

@ ¢ is the part of the observed measurement that cannot be explained by the
average and the treatment.
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Completely Randomized Design

Yik =+t + €k
@ y... average of all observations
1
Y. = " Z)’jk ~p
jk
@ y;.: average of observations in treatment j

1
V=D kRt
Ik
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Completely Randomized Design

The total variation of the data is
SS = Sl -y )2 =3 (va+2 - 2mr.)
Jjk Jjk
= VA Y = vy = Vi i =2y >y
Jjk Jjk Jk Jk jk

= Ekyﬁ( +ny? —2ny? = Zkyfk — ny?
j j

2

2 Zyjk> >

— Yy on(iyy, _Zz_</k _Zz_L

- _yjk n'-ka 7.yjk n - .yjk n
Jjk Jjk Jjk ik
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Completely Randomized Design

The treatment effect is estimated as

=y —y.mptt)—pn=t

and its associated variance

SSr = Y@= <Z:’j> .

Similarly, for the residuals

€k =Yk — Y = (L +t +ei) — (1 +t;) = e

the sum of squares of the residuals (within the treatments)

SSE = Z Ejk - Z-yjk Z n;
J
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Completely Randomized Design

The sum of squares of all measurements can be decomposed into a sum of
different components

Jjk

sS SSt + SS.
Sl —y.)? = Zk?(yj~ -y )+ Zk(yJ'k — )
J J:

and similarly for the degrees of freedom

n—l:Z(nj—l)—l—(t—l)

j

Remind in our example, n = 1000 (=total population), t = 2 (two treatments:
drug and placebo), and n; = ny = 500 (500 individuals in each treatment).
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Completely Randomized Design

Normally this is presented in a table

Source Sum of Squares Degrees of freedom | Mean squares
(SS) (df) (MS=SS/df)
Treatments | S51 = Ek:(yj —y.)? t—1 MST — Sdetr
J
Residuals | SSc=>(yx—.)? | (nj—1)=n—t | MS, = 2=
JK j ‘
Total SS=> (v —y.)? n—1
Jk

If the residuals are normally distributed, then the Linear Model checks whether the
treatments have a significant contribution explaining the variance through a
F-Snedecor statistic with t — 1 and ) _(n; — 1) degrees of freedom.

j

. Msr

MS,

1. Basic designs
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Completely Randomized Design

Example 1

Let us assume that the table in our case is

Source SS df | MS=SS/df
Treatments 256.88 1 256.88
Residuals | 13600.28 | 998 13.61

Total 13857.16 | 999
Note
13857.16 = 256.88 + 13600.28
999 = 1+998
In this case

_256.88
~ 1361

= 18.87 > 3.85 = F.95,1,908

1. Basic designs October 14, 2016 11 /51



@ Basic designs

o Randomized Complete Block Design (RCBD)
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Randomized Complete Block Design

Reducing variance

Randomized block designs

Fiqure 3
Randomized Block
Design for Example 2
300 Subjects

500 Random
—

Wen Assignment \
Group 2
300 Subjects

1200
Subjects

Group 1
Women Assignment

Group 2
300 Subjects

‘Assignment to biocks is not random

—

e
/ 300 Subjects
500 Random

Treatment 1

Drug 326 mg
Compare
Temperature
Treatment 2

Placebo

Treatment 1

Drug % 325 mg
Compare

/v Temperature
Treatment 2

Placebo

Dropin

Dropin

Randomized Block Design
Total Variation Partitioning

Total Variation

SS(Total)




Randomized Complete Block Design

Blocks are groups of experimental units that are formed to be as homogeneous as
possible with respect to the block characteristics. The term block comes from the
agricultural heritage of experimental design where a large block of land was
selected for the various treatments, that had uniform soil, drainage, sunlight, and
other important physical characteristics. Homogeneous clusters improve the

comparison of treatments by randomly allocating levels of the treatments within
each block. (SAS)

2X2 4x1 1x4

4 6 9 8 3 6 8 3 6 2 4 5 a4 6 9 9 4 1 8 3 6
207 | 208 | 209 | 407 | 408 | 409 407 | 408 | 409 107 | 108 | 109 | 207 | 208 | 209 | 307 | 308 | 309 | 407 | 408 | 409
AEREREREE T o Ts 7|7 238 321 2]>
20 | 205 | 206 | 04 | ao5 | aos aoa | a05 | a0 104 | 105 | 106 | 208 | 205 | 206 | 308 | 305 | 306 | aoa | aos | a0
sTils|7]5]2 BERE o365 1 s]als]z]7 5]z
| 201 | 202 | 205 [ aon | a0o | aos | | o1 | a2 | a0 | 101 [ 102 | 103 | 201 | a02 | 205 | s0n | 502 | 305 | aon | 02 | ao|
2 a4 5 9 a4 1 9 a4 1

107 | 108 | 109 | 307 | 308 | 309 307 | 308 | 309

Tl 7632 RERER

10 | 105 | 106 | 304 | 305 | 305 304 | 305 | 306

sls[s|s]5]7 s [ 5|7

201 | 102 | 105 | so1 | 302 | 503 | | 201 | 302 | s03

107 | 108 | 109

104 | 105 | 106
ERIERIG
101 | 102 | 103
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Randomized Complete Block Design

Diabetes No diabetes Diabetes

Mo diabetes
mellitus mellitus mellitus mellitus
Center Center Center Center Center Center Center Center
1 2 1 1 1 1 2
Random- Random- Random- Random- Random- Randem- Random- Random-
ization in ization in ization in ization in ization in ization in ization in ization in
i | i experil p i I P experimental experimental
and control and control and control and contral and control and control and control and control
groups groups groups groups groups groups groups groups

Within each block, experimental units must be randomly assigned to treatments.
When several variables must be blocked, each combination (e.g. >55, Diabetes,
Center 1) can be treated as a block. Alternatively, each block may be treated
independently (we will see how later).
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Randomized Complete Block Design

The data (blood pressure) is supposed to be generated as

Yigk = 1+ bi + b + €k

@ y is the average blood pressure of the whole population.

@ by and b, are the differences in blood pressure between men (b;) and women
(b2), the blocks. It must be
> bi=0

i

@ t; and t, are the effects of the drug (¢;) and the placebo (t2). It must be
2 4=0
J

@ yjk is the measurement observed for the k-th individual of the i-th block who
has been given treatment j.

@ € is the part of the observed measurement that cannot be explained by the
average, block and treatment.
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Randomized Complete Block Design

We now have the relationships

o=y
[fi = yi..—y.=(u+b)—pn=0b
i = yj—y.=pu+t)—p=t )
ik = Yik—Yie —Yj TV =Yk — (L + bi + 1))
~ (u+b,~+tj+e,-jk)—(u+1;,-2)_(ﬂ+tj)+uzeijk
Y ij
ijk
ijk
SS. = Uzkjelgjk

S5 = 55+ 557+ SS.
n—-1 = (b-1)+(t-1)+(n—-b—-t+1)
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Randomized Complete Block Design

The table of the linear model becomes

Source SS df MS=SS/df
Blocks SSg b—1 MSg = .%B
Treatments | S5+ t—1 MSt = -%r
Residuals | SS. | n—b—t+1 | MS, = -ZZ
Total SS n—1

If the residuals are Gaussian, we may test whether the contribution of the blocks
or treatments are significant through the same F-Snedecor as before (pay
attention to use the corresponding degrees of freedom).

1. Basic designs
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Randomized Complete Block Design

Example 2

Let us assume that in our case it becomes
Source SS df | MS=SS/df
Blocks 1500.04 1 1500.04
Treatments 256.88 1 256.88
Residuals 12100.24 | 997 12.13
. € o Total 13857.16 | 999
k] ] a&
: uun Note
13857.16 = 1500.04 + 256.88 + 12100.24
999 = 1+4+1+997
In this case
256.88
F = ﬁ =21.17 > 3.85 = F0‘95’1’gg7
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Randomized Complete Block Design

Example 3

We want to analyze the optimal spacing (in
terms of yield measured in kilos) between plants
(10 treatments: 30 x 30, 30 x 24, 30 x 20,

30 x 15, 24 x 24, 24 x 20, 24 x 15, 20 x 20,

20 x 15, 15 x 15). To avoid possible land effects,
we divide the land in 4 blocks, and within each
block we randomly apply the 10 treatments.

We may compute the difference between many
pairs of treatments, creating a problem of Type |
error inflation by multiple testing. Instead, we
may analyze the data converting the treatments
to a numerical variable (area per plant, e.g.

30 x 30 = 900) and performing a

regression analysis of yield versus area and
making the hypothesis testing only on a single
parameter, the slo_pe.
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Randomized Complete Block Design

@ If there are clear variables to block, they should be blocked. Litters are
normally chosen as blocks (and birth weight as covariate).

e b 356 £ VI
g AT B v
¥ S/ T 4

A
e N
~

%

@ If there are no obvious blocking variables, but we may create blocks, we may
do as an “insurance” against possible patterns not yet identified.

(a) (b)

==

(© (d

(e.g. 4 block, 12 treatments)
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@ Basic designs

o Factorial design (FD)
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Factorial Design

Let's imagine a design where we have an educational program where we would like
to look at a variety of program variations to see which works best. For instance,
we would like to vary the amount of time the children receive instruction with one
group getting 1 hour of instruction per week and another getting 4 hours per
week. And, we'd like to vary the setting with one group getting the instruction
in-class (probably pulled off into a corner of the classroom) and the other group
being pulled-out of the classroom for instruction in another room.

Factors:
Major Independent Yariables

Levels:

Subdivisions ime In Instruction
of Factors

| 1 hour/week ‘ ‘ 4 hours/week |
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Factorial Design

The Null Case

Time
Ahr  dhrs

E -.
in

The data is supposed to be generated as :
& ==1hr
Z _ ——4hrs
Yijk = pb+ pi + qj + €ijk ]‘

Treatment variables are P(=amount of
time) and Q@ (=setting).

The lines in the graphs
below overlap each

Setting

other

In case that there is no effect of any of
the variables, we should not observe
differences amongst the groups.

5+040 | 5+04+0 | g =0
5+0+0 | 5+0+0 | o =0
p1 = 0 P2 = 0 o= 5
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Factorial Design

Main effects are the consistent differences observed for the levels of each one of

the factors.

Main Effects
Time
1hr ar
W Eann

——out
—=in

Il
g5
H
s
.

Outcome example if the amount of time
has an effect but the setting does not.

6-140 | 6+140 | g1 — 0
6-14+40 | 6+1+0 | g =0
pP1 = -1 P2 = 1 Hn = 6

1h

semng

woeowow D

Tlme

Main Effects

wAmooD

——1hr
——ahrs

out Main Effects of
Time and Setting

——out
—=in

Outcome example if the amount of time
and the setting have an effect.

7-1-1 | 7+1-1 | g — 1
7-1+1 | 74141 | g =1
pP1 = -1 P2 = 1 o= 7
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Factorial Design
Interaction effects exist when differences on one factor depend on the level you

are on another factor. The interactions are between factors and not between levels.

Yie = 1+ pi+ g+ (Pq) + €ijk

Interaction Effects

The 1 hour amount works
well with pull-outs while

the 4 hour works as well
with in-<class

>< ——out
—=in

6+0-+0+1(= (pg)i1) | 64+0+0-1(= (pg)i2)
6-+0+0-1(= (pg)21) | 64+0+0+1(= (pg)22) | g2 =0
p2=0 p="0

A1

q =0

October 14, 2016
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Factorial Design

Interaction Effects

1 I1r 4I1ra
The in-class 4 hour per
week group differs

from all the others

- ==put
==in

5.5—0.5—0.5+0.5(: (pC/)H) 5.540.5-0.5-0.5 (pq)lg) g1 =—-0.5
(

(=
5.5-0.5+0.5-0.5(= (pg)21) | 5.540.54+0.54+0.5(= (pg)22) | g» =05
pP1 = —-0.5 P2 = 0.5 o= 5.5

(RN

in
Ahr
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Factorial Design

Given the linear model
Yijk = i+ pi + q + (Pq)ij + €k

The model constraints are

ZP'*Z"J*ZP%*Z(W)UZO

Jj

and we may estimate each one of the components as

p=y. SS = Z( Vik —p)* df =n-1
pPi = Yi. = y.. ssp_zp, dfp = p—1
ijk
QG =Yy =y SSQ:;QJ? dfg=qg—1
Ul
(PCI),-J- =Yj —Yi.—Yj+y.. SSpqg= Xk:(pq) dfpg = (p—1)(q — 1)
ij
Eijk = Yijk = Yij- SS.=y &, df. = n— pg
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The analysis table may be represented as

Factorial Design

Source SS df MS=SS/df
P main effects SSp p—1 MSp = 55”
Q main effects | SSq g-1 MSq = jﬁg
PQ interactions | SSpg | (p—1)(q —1) | MSpg = ‘Zi:g
Residuals SS. n—pq MS, = ‘Z‘Z
Total SS n—1

1. Basic designs
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Factorial Design

Example 4

We are testing water uptake by amphibia. Frogs and toads
(species factor S) are kept in most or dry conditions before the
experiment (moisture factor M) and half of the animals are
injected with a mammalian water balance hormone

(hormone factor H). A full factorial experiment is performed with
2 animals per treatment combination (cell).

Yijkl = [ + s + m; + hi + (sm),J - (Sh),’k = (mh)jk aF Eijkl

Source S df MS Source ss df MS
Species 515.06 1 Specics 515.06 1

Moisture 471.33 1 Moisture 471.33 1

Hormone 218.01 1 Hormone 218.01 1

SM 39.50 1 SH 165.12 1

SH 165.12 I Lack of fit 140.71 3 46.90

MH 57.73 1 Error 276.05 8 57 =34.51
SMH 4343 1 sor A -

Error 276.05 8 2= 3451 Total 178633 15

Total 1786.33 15
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Factorial Design

Factors and blocks: Factors and blocks may be combined, the difference between
a block and a factor is that it makes no sense to study the interaction of blocks

Vit = p+ bi + pj + g + (pq)jk + €iju

The model constraints are
dob=>p= qu Z quk—Z(pq k=0
i j

and we may estimate each one of the components as

p=y.. SS=>(yju—p)*> df=n-—1
ijkl
b,' =Vi..—Yy.. SSB = Z b,-2 de =b-1
ikl
Bi=vyj. —y.. SSp:%:lﬁjz dfp=p—1
ij
Gk = Yook = Yo 55o=Zklfli dfg=q—1
I
— —2
(PQ)j = Vijk- = Yjoo = Yok + Yoo SSpq = % (P@)y  dfrg=(p—1)(q—1)
.

Eijkl = Yijkl — Yiew — Yjk- + Yoot S5 =) €y dff=n—pg—b—1
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Factorial Design

Advantages of factorial design:
@ Interactions between factors can be estimated and their significance tested.

o Wider validity of main effects: they have been tested in many different cases
(e.g. the effect of moisture have been tested with frogs and toads, and with
and without hormone)

@ Several experiments are done simultaneously: the variance of pairwise
comparisons is minimal, as shown in the following experiment
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Factorial Design

Example 5

Assume that we have resources for 24 observations and we assume that there is
no interaction between factors

}/ijk/:,ll+5,'+mj—|—hk+6,'jk/

Three different experiment designs are considered:
@ One variable changes at a time

o (Frogs,Dry,NoHormone) vs (Toad,Dry,NoHormone): 4 animals each
o (Frogs,Dry,NoHormone) vs (Frogs,Wet,NoHormone): 4 animals each
o (Frogs,Dry,NoHormone) vs (Frogs,Dry,Hormone): 4 animals each
@ Do not repeat (Frogs,Dry,NoHormone) in each comparison:
o (Frogs,Dry,NoHormone): 6 animals
o (Toads,Dry,NoHormone): 6 animals
o (Frogs,Wet,NoHormone): 6 animals
o (Frogs,Dry,Hormone): 6 animals

@ Factorial design (all possible combinations) with 3 animals each.
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Factorial Design

Example 6(continued)

We now want to test if there is a difference induced by the hormone injection, for
which we construct the statistic

Ah=hy—h
Its variance in the three experiments are
Q dAp= 2%
Q UzAh = 2%5
Q day= 2%

The factorial design yields the smallest variance for the comparison of any of its
components.

Factorial design: Hold all factors constant except the-one those whose effects
we are investigating.
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Outline

@ Basic designs

@ Non-orthogonal designs
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Non-orthogonal Designs

Example 6

We are testing 2 spray treatments (tx) using 2 different
concentrations of a chemical growth regulator. We also
include a control spray without the chemical. We have 9
plots (3 x 3) for the experiment and we allow for row (r;)
and column (¢;) differences

Yijkl = p = ri + G 4 i + €jjk

A372 B339 C29
Results are C 350 A 3.08 B1.72
B418 C436 AO081

This is a latin square and the analysis techniques are not
the same as in the randomized complete block design
(the reason is that in block designs, for each block (in
our case row and column) we assume that we have all
treatments, and this is not the case.
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Non-orthogonal Designs

Example 6(continued)

The solution comes through Least Squares fitting
372 = pu+n—+c+ta
339 = u+n+o+ts
295 = pu+n+ac+tc
350 = pu+nmn+a+tc
308 = pu+nt+o+tta
1.72 = W+ rn+c +ts
418 = pu+nmn+c+ts
436 = p+n+o+tc
08l = pu+m+c+ta
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Non-orthogonal Designs

Example 6(continued)

y = A6
3.72 1100100710 0\/("
3.39 11000100T1o0]|]|"™
2.95 1100007100 1]|]|"7
3.50 10101000017
308 = |1 01001010 0/[]|%
1.72 1010001010]|]|®
4.18 10011000010]|]|%
4.36 1001010001?
0.81 1001001100t’j

However we have not introduced yet the constraints

r=—n—n0=-—Cc—0o,tc=—ta—tp
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Non-orthogonal Designs

Example 6(continued)
With the constraints, the LS problem becomes

“w n r a [} ta tg

3.72 (1 1 0 1 0 1 0

3.39 1 1 0 0 1 0 1 m
2.95 1 1 o -1 -1 -1 -1 n
3.50 1 0 1 1 0 -1 -1 r
3.08 = 1 0 1 0 1 1 0 a
1.72 1 0 1 -1 -1 0 1 (o)}
4.18 1 -1 -1 1 0 0 1 ta
4.36 1 -1 -1 0 1 -1 -1 tg
0.81 1 -1 -1 -1 -1 1 0 |

Note that for any pair of factor, their corresponding columns in the design matrix
are orthogonal

{1y 1) = (1, 65) = (s tie) = (ri, ) = (rj, t) = (¢j, tk) = 0
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Non-orthogonal Designs

Example 7

We are now given 3 extra plots (another row), which we
employ to replicate the treatments and have better
estimates.

A372 B339 C295
C350 A308 B1.72
B418 C436 AO081
C545 B526 A485

Results are now

1. Basic designs October 14, 2016 40 / 51



Non-orthogonal Designs

Example 7(continued)

=

L o W = Gy S Gy Sy T = S S

3.72
3.39
2.95
3.50
3.08
1.72
4.18
4.36
0.81
5.45
5.26
4.85

Factor columns in the design
(in particular (c;j, tx) # 0).

n r r3 a e ta tg
1 0 0 1 0 1 0
1 0 0 0 1 0 1
1 0 O -1 -1 -1 -1
0 1 0 1 0 -1 -1
0 1 0 0 1 1 0
0 1 0 -1 -1 0 1
0 0 1 1 0 0 1
0 0 1 0 1 -1 -1
0 0 1 -1 -1 1 0

(.
==
|
—
(I
==
—
o
|
—_
|
—_

-1
-1 -1 -1 -1 -1 1 0

o
—
o
—

matrix are no longer orthogonal
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@ Orthogonal designs are insensitive to the order in which the parameters are
fitted. We may fit all of them at the same time (as shown), or
@ fit first u, produce a new experiment dataset removing the part we have
already fitted (u)
@ fit then r; and ¢, produce a new experiment dataset removing the part we
have already fitted (u, ri, ¢j)
© fit finally the treatments (tx)

@ Non-orthogonal designs depend on the order in which parameters are fitted
(nothing terrible, but something to keep in mind).
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Outline

@ Basic designs

@ Covariates and contrasts
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Covariates

Researchers cannot control covariates, but can measure them and use them to
increase the predictive power of the Linear Model.

Example 8

We suspect that the effect of the growth chemical

depends on the ambient temperature, we extend the
model with this covariate

Yiiid = b+ i + 6 + te + B Tjjia + €

Tijki is the ambient temperature measured when the
spray was applied.
A 372 (T=28) B339 (T=22) C2095(T=23)
C3.50(T=24) A3.08 (T=25) B 1.72 (T=26)
B 4.18 (T=20) C4.36(T=22) A 0.81 (T=26)
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Covariates
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Contrasts

Example 9

Remind that our simplified parameter vector is
0= (H’a rn, n,c, c, ta, tB)T

We want to know whether there is a difference in the
spray treatment

ta—tg =0=(0,0,0,0,0,1,-1)"8
or if there are differences in the rows

h—rp—=0 — (0,1,-1,0,0,0,0)78
n—r=0 = rg—(—rl—rg):2r2+r1
— (0,1,2,0,0,0,0)76

In general, many interesting tests are of the form ¢78 = 0.
If 17c =0, cis called a contrast.
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Outline

@ Basic designs

@ Least Squares
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Least squares

The linear model is of the form

y=A0+¢€
and it assumes
E{e} = 0
Yo = o2l
Consequently
E{y} = A

And the deviations from the expected value is the sum of squares
SS=(y—A8)"(y — A6)
The minimizer of this Sum of Squares is

0= (ATA) ATy
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Least squares

The covariance matrix of the fitting parameters (assuming that € is a multivariate
normal) is
Cov{0} = o?(ATA)!

If we diagonalize AT A, then after some suitable rotation P

SN

[oa

o0 o
Cov{PB} = X 0
00 . %

being A1, A2, ... Ay the Singular Values of the matrix A

The goal of the Experimental Design is to construct a matrix A such that: 1)
AT A has a determinant as small as possible; or 2) the variance of a specific
parameter is as small as possible. We would also like the matrix A to be
well-conditioned (otherwise some parameter will be too variable).
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Least squares

If in our experiment the most important test is of the form
c=c’0=0
we may design our experiment such that the variance of ¢ is minimized

Var{c} = o?c" (ATA)"lc

The goal of the Experimental Design is to construct a matrix A such that: ...
or 3) the variance of a specific statistic is as small as possible.

Particular structures (Factorial Design, Completely Randomized Design,
Randomized Complete Block Design) are “precooked” A constructions, which
additionally allow very easy Least Squares fitting.
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@ Basic designs
@ Completely Randomized Design (CRD)
o Randomized Complete Block Design (RCBD)
o Factorial design (FD)
@ Non-orthogonal designs
@ Covariates and contrasts
@ Least Squares
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